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Question Id : 87827041979 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the number of employees working in five different colleges A-E, alongwith
the ratio of Males to Females [M : F| among them. Based on the data in the table, answer the

questions that follow.
College-wise Details of Employees

College | Number of Employees| Ratio
M:F

A 3040 13:6

B 3360 4:3

G 2920 D11

D 2760 10:13

E 2840 13:7

Sub questions



Question Number : 1 Question Id : 87827041980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the total number of male employees taking all the Colleges together ?

(1) 8120
(2) 8240
(3) 8360
(4) 8560
Options :

878270164841. 1
878270164842. 2
878270164843. 3

878270164844. 4

Question Number : 2 Question Id : 87827041981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the average number of female employees taking all the colleges together ?

(1) 1312
2) 1372
(3) 1336
(4) 1292
Options :

878270164845. 1
878270164846. 2
878270164847. 3

878270164848. 4

Question Number : 3 Question Id : 87827041982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

The number of male employees wotking in Colleges A and C together is approximately %
more than the number of female employees working in colleges B and D together.

(1) 9

(2) 15

(3) 11

4) 13

Options :
878270164849. 1
878270164850. 2
878270164851. 3

878270164852. 4

Question Number : 4 Question Id : 87827041983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of female employees working in College D to that in College E ?

(1) 7:4
(2) 780 : 497
(3) 390 : 491
(4) 9:5
Options :

878270164853. 1
878270164854. 2
878270164855. 3

878270164856. 4

Question Number : 5 Question Id : 87827041984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The number of employees working in College C is approximately % more than that in

College D.
() 8

(2) 6
3 4
(4 10
Options:

878270164857. 1
878270164858. 2
878270164859. 3
878270164860. 4

Question Id : 87827041979 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension
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A 3040 13:6
B 3360 1:3
C 2920 0:11
D 2760 10:13
P 2840 13:7

Sub questions

Question Number : 1 Question Id : 87827041980 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 8120
(2) 8240
(3) 8360
(4) 8560

Options :

878270164841. 1
878270164842. 2
878270164843. 3
878270164844. 4

Question Number : 2 Question Id : 87827041981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tt Helferarerdi i U 91 foere Aieen SHEEl 1 i Sem = e ?

(1) 1312
(2) 1372
(3) 1336
(4) 1292

Options:

878270164845. 1
878270164846. 2
878270164847. 3

878270164848. 4

Question Number : 3 Question Id : 87827041982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270164849. 1
878270164850. 2
878270164851. 3

878270164852. 4

Question Number : 4 Question Id : 87827041983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1) 7:4

(2) 780 : 497
(3) 390 : 491
4 9:5
Options :

878270164853. 1
878270164854. 2
878270164855. 3

878270164856. 4

Question Number : 5 Question Id : 87827041984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270164857. 1
878270164858. 2
8782701648509. 3

878270164860. 4

Sub-Section Number : 2
Sub-Section Id : 8782701756
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827041985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

An economics teacher wants to create an infographics to explajn supply and demand to her students.
Which of the fo]lowing tools would be most suitable ?

(I) Edpuzzle
(2) Canva
(3) Quizlet
(4) Mindmeister
Options :
878270164861. 1
878270164862. 2
878270164863. 3

878270164864. 4



Question Number : 6 Question Id : 87827041985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
efaT 1 e ffereR o1 vt < oyfd ai i R e % o SpRtRR A e €
fepffin H & @ w1 F1em et SugeR 2 ?
(1

) el

(2 Fﬂ
(3) fooee
(4) WEEHR
Options :

878270164861. 1
878270164862. 2
878270164863. 3

878270164864. 4

Question Number : 7 Question Id : 87827041986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Norm referencing is used to interpret a score of an individual by comparing it
with those of other individuals.

Statement I :  Criterion referencing is used to interpret a person’s performance by comparing it
to some specified behavioural domain.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement II is incorrect
(

4) Statement I is incorrect but Statement II is correct

Options :



878270164865. 1
878270164866. 2
878270164867. 3

878270164868. 4

Question Number : 7 Question Id : 87827041986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164865. 1
878270164866. 2
878270164867.3

878270164868. 4

Question Number : 8 Question Id : 87827041987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the elements of observational learning ?
(A) Production

(B) Attention

(C) Identification

(D) Retention

(E) Motivation

Choose the correct answer from the options given below :

(1) (B), (C) and (D) Only

(2) (A)and (E) Only

(3)  (A), (B), (D) and (E) Only
(4) (C) Only

Options:

8782701648609. 1
878270164870. 2
878270164871. 3
878270164872. 4

Question Number : 8 Question Id : 87827041987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164869. 1
878270164870. 2
878270164871. 3

878270164872. 4

Question Number : 9 Question Id : 87827041988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In "VARK' model of learni_ng st}fles, ‘A" stands for

(I) Auspicious
(2) Augmentary
(3) Authentic
(4) Aural
Options :

878270164873. 1
878270164874. 2

878270164875. 3



878270164876. 4

Question Number : 9 Question Id : 87827041988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164873. 1
878270164874. 2
878270164875. 3

878270164876. 4

Question Number : 10 Question Id : 87827041989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When a very bright light is incident on our eyes, we immediately close our eyelids.
This is an example of

(1)  Biological instincts

¥

(2)  Reflex actions
(3) Desired instincts
(4)

Intrapersonal instincts
Options :

878270164877. 1
878270164878. 2

878270164879. 3



878270164880. 4

Question Number : 10 Question Id : 87827041989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270164877. 1
878270164878. 2
878270164879. 3

878270164880. 4

Question Number : 11 Question Id : 87827041990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

[dentify the disadvantages of open ended questions in survey research.
(A) The questions do not suggest certain kinds of answer to respondents.
(B) They are time consuming for interviewers to administer.

(C) They require greater effort from respondents.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (4), (B) and (C)

Options :



878270164881. 1
878270164882. 2
878270164883. 3

878270164884. 4

Question Number : 11 Question Id : 87827041990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164881. 1
878270164882. 2
878270164883. 3

878270164884. 4

Question Number : 12 Question Id : 87827041991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In a reference written in APA style, arrange the information pertaining to the reference in correct
order.

(A) DOI number

(B) Volume number

(C) Name of author

(D) Title of the article

Choose the correct answer from the options given below :

) ()@ 0 0
o)
(

(

Options:

878270164885. 1
878270164886. 2
878270164887. 3

878270164888. 4

Question Number : 12 Question Id : 87827041991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270164885. 1
878270164886. 2
878270164887. 3

878270164888. 4

Question Number : 13 Question Id : 87827041992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A research study is said to have heuristic value if :
(1) It leads to no further research

(2) It generates more research
(3) Its results lack consistency
(4)  Its results lack validity

Options :

878270164889. 1
878270164890. 2
878270164891. 3

878270164892. 4

Question Number : 13 Question Id : 87827041992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270164890. 2
878270164891. 3

878270164892. 4

Question Number : 14 Question Id : 87827041993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An entrance examination with objective type questions is conducted. For each correct answer, 1
mark is awarded and for each incorrect answer .25 marks are deducted. The number of marks
scored by candidates who appeared in the examination, is an example of :

(1) nominal variable

(2)  discrete variable

(3) ordinal variable

(4)  continuous variable

Options :

878270164893. 1

878270164894. 2

878270164895, 3

878270164896. 4

Question Number : 14 Question Id : 87827041993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270164893. 1
878270164894. 2
878270164895. 3
878270164896. 4

Question Number : 15 Question Id : 87827041994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ;  Medical research usua]ly involves pain or distress in animals.

Statement I1:  Psychological research is usually benign and may mvolve little, if any, discomfort
for the animals.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270164897. 1

878270164898. 2

878270164899. 3

878270164900. 4

Question Number : 15 Question Id : 87827041994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164897. 1

878270164898. 2

878270164899. 3

878270164900. 4

Question Number : 16 Question Id : 87827041995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A photograph constitutes a/an :

(1

) Protective text
(2) Refined text
(3) Closed text
(4) Open text
Options :
878270164901. 1
878270164902. 2
878270164903. 3

878270164904. 4

Question Number : 16 Question Id : 87827041995 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164901. 1
878270164902. 2
878270164903. 3

878270164904. 4

Question Number : 17 Question Id : 87827041996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Buddhist concept of communication is marked by :
(1) Mono-causality

(2) Dyadic causality

(3) Multi-causality

(4) Skewed causality

Options:

878270164905. 1

878270164906. 2

878270164907. 3

878270164908. 4

Question Number : 17 Question Id : 87827041996 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270164905. 1
878270164906. 2
878270164907. 3

878270164908. 4

Question Number : 18 Question Id : 87827041997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

At present, cyber communication is a :
(1) Fictitious reality

(2) Palpable reality

(3) Futuristic reality

(4) Conventional reality
Options :

878270164909. 1
878270164910. 2
878270164911. 3

878270164912. 4

Question Number : 18 Question Id : 87827041997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270164909. 1
878270164910. 2
878270164911. 3

878270164912. 4

Question Number : 19 Question Id : 87827041998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main objectives of public policy sphere communication is to involve citizens in :
(A) Idea generation

(B) Policy critique

(C) Innovative policy practices

(D) Ignoring oppositional views

(E)  Promotion of stereotypes

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4)  (A), (D) and (E) Only

Options :

878270164913. 1
878270164914. 2
878270164915. 3

878270164916. 4



Question Number : 19 Question Id : 87827041998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270164913. 1
878270164914. 2
878270164915. 3
878270164916. 4

Question Number : 20 Question Id : 87827041999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [ ;  Western communication models examined the relaﬁonship among communicative
elements on an individual basis.

Statement Il ;  The Buddhst concept of communication emphasises the contextualisation of each
of the communicative elements.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement L is false but Statement Il is true
Options:

878270164917. 1

878270164918. 2

878270164919. 3

878270164920. 4

Question Number : 20 Question Id : 87827041999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D) AR R 1 3 o £

) @R 1§ ¢, Ol e 1 o €

4) A1 &, Vi RO T &

L]

(
(
(
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Options :

878270164917. 1

878270164918. 2



878270164919. 3

878270164920. 4

Question Number : 21 Question Id : 87827042000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A man, a woman and a boy can do a piece of work in 6, 9 and 18 days, respectively. How many
boys should assist one man and one woman to do the work in one day ?

(1) 13
2 1
3 11
() 10
Options :

878270164921. 1
878270164922. 2
878270164923. 3

878270164924. 4

Question Number : 21 Question Id : 87827042000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

T %0, T Hfeell N T acrd: foret o 1 90 6, 9 S 16 fed B 0 9 & | T Wfeen 3% @
6 1 7 ) G et ol ot o foru, Foil airehl o1 Smaen o Sfiaveeeel 2 7

(1) 13
(2) 15
3) 1
4) 10
Options :

878270164921. 1

878270164922. 2



878270164923. 3

878270164924. 4

Question Number : 22 Question Id : 87827042001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A family consists of 6 members namely A, B, C, D, Eand F. B is the brother-in-law of C's mother.
Cis the father of F. Dis the father of Xandf is the grandson of D. There are two female members
in the family. Which of the following pairs represent the female members in the family ?

Aand D

Options :

878270164925. 1
878270164926. 2
878270164927.3

878270164928. 4

Question Number : 22 Question Id : 87827042001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A,B,C,D,E #IF 719% 98 9@ W WeR § &1 B,CH AT AL el CFafmel D, A
TARE, DF A &1 ofEm § < wfee €| Freifefen # 4 91 91 9w ofEn § afeen wew 9 i
g’

() AZRD
() DHRE
(3) A3RE
(4) BERC

Options :



878270164925. 1
878270164926. 2
878270164927. 3

878270164928. 4

Question Number : 23 Question Id : 87827042002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below.
15,5108 18,275,489, %, .

(1) 48.5
(2} 2258
(3) 625
(4) 725
Options :

878270164929. 1
878270164930. 2
878270164931. 3

878270164932. 4

Question Number : 23 Question Id : 87827042002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T T T Ffe S A & gEen § wwaras: fag i ufrenf 9w gee
15,5, 105, 18, 275,39, 2. .,

(1) 485
(2) 525
(3) 625
4) 725



878270164929. 1
878270164930. 2
878270164931. 3

878270164932. 4

Question Number : 24 Question Id : 87827042003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child is looking for his father. He goes 100 meter towards east and then turns to his right and
goes 30 meters. From there the child again turns to his right and goes for 40 meters. Where he
finds his father at his uncle’s place. How far is his uncle’s place from the starting point of the
child ?

(1) 3045 meter
(2) 40 meter

(3) 4045 meter
(4) 30410 meter
Options :
878270164933. 1
878270164934. 2
878270164935. 3

878270164936. 4

Question Number : 24 Question Id : 87827042003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



e ] 319 iR A 4% T €1 9 T A SR 100 R S € S R e aife g o € e 30 e
W8 | T T A St T & e 40 F S €, W) o oA ST o R R A o o o
¢ T % o s 3 39 9 A R R @ e

(1) 305 e

(2) 40"

B) 405 T

C T

Options:

878270164933. 1
878270164934. 2
878270164935. 3
878270164936. 4

Question Number : 25 Question Id : 87827042004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language :

(a) 1000 ie. 10° is coded as 1331

(b) 125i.e.5%is coded as 216

How 729 will be coded in that language ?

(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270164937. 1
878270164938. 2
878270164939. 3
878270164940. 4



Question Number : 25 Question Id : 87827042004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
gfe fordl e W o :
(a) 1000 21T 10° &1 1331 % ®9 H FHfeq fomam 701 ©
(b) 125 1eifd 5° F1 216 F &9 H Ffeq foFan 7 €

dl 39 9T H 729 k1 Y Hied fopan smam ?
(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270164937. 1
878270164938. 2
878270164939. 3

878270164940. 4

Question Number : 26 Question Id : 87827042005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are contradictory to each other ?
(A) All plants are fungi

(B) No plants are fungi

(C) Some plants are not fungi

(D) Some plants are fungi

Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (A)and (B) Only
(3) (C) and (D) Only
(4) (A) and (D) Only

Options :



878270164941. 1
878270164942. 2
878270164943. 3

878270164944. 4

Question Number : 26 Question Id : 87827042005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frfafea o #9-9 %97 TF TH S AT © 2
(A) T WY FF T |
(B) HIZ UreN FHeleh e o
(C) Fo W Tk el ¢
(D) F® Y FIF ¢ |
= fou 7o fowedi § 9 W& SO 1 999 Hife
(1) = (B) 3R (D)

(2) FaA (A) AR (B)
(3) A (C) X (D)
(4) FaA (A) 3R (D)

Options :

878270164941. 1
878270164942. 2
878270164943. 3

878270164944. 4

Question Number : 27 Question Id : 87827042006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



[f the statement - “All trucks are po]lul‘ing vehicles” is given as false, then which of the follnwing
statements can be immediately inferred to be true ?

(I) Some trucks are polluting vehicles.

(2) Some trucks are not polluting vehicles.
(3)  No trucks are polluting vehicles.
(.

=y

) No polluting vehicles are trucks.

Options:

878270164945. 1
878270164946. 2
878270164947. 3
878270164948. 4

Question Number : 27 Question Id : 87827042006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

o Fem - 9 7% TeuE A €1 e fem e € @ Pt F € dR-A A Y R W
T 1 Wl & 7

(1) %9 7 I e

Q) T3 7% T e T ¢
(3) ot 7 T A I ¢
(4) o U e 2% ) ¢
Options :
878270164945. 1
878270164946. 2
878270164947. 3

878270164948. 4

Question Number : 28 Question Id : 87827042007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following statements is equivalent to the statement - “Some philosophers are not
idealists.”?

(I) Some philosophers are not non-idealists.

(2)  No idealists are philosophers.

(3)  Some non-idealists are not philosophers.

(4)  Some non-idealists are not non-philosophers.
Options :

878270164949. 1

878270164950. 2

878270164951. 3

878270164952. 4

Question Number : 28 Question Id : 87827042007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frfafea # @1 wua-' o gnifr goger =& €', % 9nqe 87
(1) T SRIHF T-JagamK] T8 © |
(2) IS TAFAE! QR el © |

(3) F® R-TIFaR! S el 2 |

(4) TP T-YIFas! T-gRIE Tl © |

Options :

878270164949. 1

878270164950. 2

878270164951. 3

878270164952. 4

Question Number : 29 Question Id : 87827042008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which fallacy is involved in the following statement “Indian pharmaceutical companies are
p‘ro[itabl& therefore, average Indian pharmaceutical company is pmfitable"?

(I) Fallacy of Division

2

Hasty Generalisation

2
(3)  Slippery Slope
()

4)  Fallacy of Accident

Options :

878270164953. 1
878270164954. 2
878270164955. 3

878270164956. 4

Question Number : 29 Question Id : 87827042008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

vt e & SF- 7 W Tl ¢ - (R s et aven § g o R

T O R

(1) fourem = 7 g
(2) et JHE
(3)  ToHerR Ze

4
Options :
878270164953. 1
878270164954, 2
878270164955. 3

878270164956. 4

Question Number : 30 Question Id : 87827042009 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The Aristotelian syllogism is only inductive and formal.
Statement 11 : N}f:iya sy]logism is deductive - inductive and formal-material.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement 1 is true but Statement II is false
(4)  Statement I is false but Statement II is true
Options :

878270164957. 1

878270164958. 2

878270164959. 3

878270164960. 4

Question Number : 30 Question Id : 87827042009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁ%awfww%:

FAT]: AT F AHAH FId AT AR STHE 2l ¢ |

FOTI: 0 F THAH S - SFHAHS S ST Terefa 2 €
SR HYA & el H, e U T forredl § § R T T FIfC

(1) oA 1R w13 7 &

(2) WU 1 2R w1 S 3 §
(3) HUTITA T, ol T U1 594 @
(4) HUTIHEA T, Al FIAT I TA €
Options :

878270164957. 1



878270164958. 2
878270164959. 3

878270164960. 4

Question Number : 31 Question Id : 87827042010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An advantage to a business that uses Intranet capabilities is that it allows employees to share the
business's information with

(1) Customers.

2

(3)  Competitors
g

Each other.

Former employees,

Options :

878270164961. 1
878270164962. 2
878270164963. 3

878270164964. 4

Question Number : 31 Question Id : 87827042010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

5GP W F1 I ¢, T AT H} AN T ¢ 5 T wAAE A e A g
i o T4 W e 1 Tt e 7 ¢ -

(1) T & 9
) TE-THE M
%) et %
4) T FHAE & Y

Options:

(
(
(



878270164961. 1
878270164962. 2
878270164963. 3

878270164964. 4

Question Number : 32 Question Id : 87827042011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following MS-EXCEL screenshot that shows the product code, name of the state
which produced the product and Quality of the product :

A B C D

1 |ProductCode| State |Quality

2 Al HP A

3 A2 MP A

4 A3 UP A

5 Ad UpP B

b A5 upP B

7

Which of the following EXCEL formulae can be typed in Cell D1 to answer the question : How
many different product codes form UP are of Grade “A” quality ?

A, = COUNTIFS (B2:Be, “=UP", C2:C6,"=A")

B. = COUNTIFS (C2:Co, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP”, C2:C6, “A")

Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

(4) (A) (B) and (C)

Options :
878270164965. 1

878270164966. 2



878270164967. 3
878270164968. 4

Question Number : 32 Question Id : 87827042011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

reifeifin Tom e e T R i o S Fe, e T 9 09 9 AW 6 3R
ﬁ‘]ﬂﬂﬂlﬂﬁf?ﬁﬁ%:

A B | C | D
1 | 3R*E | ™ | T

) Al HP | A

3 A2 MP | A

4 A3 WP [ A

5 Ad UP | B

b A UP | B

7

UP e o= 3601 1 “A” I T alel € 7 36 W 91 I <1 it ¥t D1 ¥ i ¥ 9
B 1 TRIE 93 259 f o e 8

A. = COUNTIFS (B2B6, "=UP", C2C6,"=A")

B. = COUNTIFS (C2:C6, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP", C2:C6, “A")

A fou T fosredl @ B Wl SR 1 T Fi

(1) % (A) 3T (B)
Q) @ (A) 3 (C)
() A (B) % (C)
(@) () @) (C)
Options :
878270164965. 1
878270164966. 2

878270164967. 3



878270164968. 4

Question Number : 33 Question Id : 87827042012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  'Disk defragmentation’ makes files that are contiguous in a disk as fragmented.

Statement I1: A device controller that controls a device will deal with the operating system
through device driver.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are true

2)  Both Statement I and Statement I are false

3

4) Statement | is false but Statement Il is true

(
(3) Statement I is true but Statement II is false
(

Options :

878270164969. 1

878270164970. 2

878270164971. 3

878270164972. 4

Question Number : 33 Question Id : 87827042012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%ﬂﬁﬁfﬂw%:

T ‘o femem folt fom  wam weel @) foifen & 2

FOT I g o, i ferel 4fe o e o feamew e g aAfoRfe freew 1 3
|

SR Ho % e §, T fou T fomredt # 9 W S T i

(1) R 13 e 11 3F 9 &

(2) YR 1 3R e 11 3 o §

() R 1T ¢, ©ife e 11 79

(4) U1 3 &, A FOF T §

Options:

878270164969. 1

878270164970. 2

878270164971. 3

878270164972. 4

Question Number : 34 Question Id : 87827042013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding Artificial Intelligence (AI) is/are correct ?

(A) Al systems can be used in email spam filters,

(B) Al systems are capable of analyzing uncertain information.

(C) An Al system is a system for capturing, storing, processing and displaying data related to
positions on earth’s surface.

Choose the correct answer from the options given below :

() (4)Only

(2) (A)and (B) Only

(3) (A) and (C) Only

(4) (B) and (C) Only

Options :

878270164973. 1



878270164974. 2
878270164975. 3

878270164976. 4

Question Number : 34 Question Id : 87827042013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fm g (Al) F Feol # Feforfen § @ B9 WA T 9@ 2R

(A) TaE (AL) T 1 YA Sl A et o feren <1 ek

(B) T (Al) Wgfe e e & forvermm o o ol €

(C) e (Al) Wf Yl %t o T feafedl & waftm 21 & T, HRw, TR T wev i ugf

8l
7 feu o foered # 9 WE SO o T
(1) ¥ (A
(2) A (A) 4 (B)
() A (A) 9 (Q
(@) I (B) 3 (C)
Options :

878270164973. 1
878270164974. 2
878270164975. 3

878270164976. 4

Question Number : 35 Question Id : 87827042014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following features are available in word processing software such as MS-WORD ?
(A) Spell checker and Thesaurus

(B) Page Orientation

(C) Mail Merge

(D) Slide Transitions

Choose the correct answer from the options given below :

(1) (A), (B)and (D) Only

(2) (A)and (C)Only
(3) (B) and (C) Only
(4) (A), (B) and (C) Only

Options:

878270164977. 1
878270164978. 2
878270164979. 3
878270164980. 4

Question Number : 35 Question Id : 87827042014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ty 9 S 9 MR greem # frefafad § 8 @ afiwem syeey €7
(A) Tl <Rt SR I

(B) TS SN

(C) Wl WSl

(D) WIES

A feu T fomred @ | W ST 1 I HINC ;

(1) @ (A), (B) 3 (D)

Options :



878270164977. 1
878270164978. 2
878270164979. 3

878270164980. 4

Question Number : 36 Question Id : 87827042015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not caused by polluted water ?
(1) Cholera
(2) Dysentery
(3) Typhoid
)

(4) Tuberculosis

Options :

878270164981. 1
878270164982. 2
878270164983. 3

878270164984. 4

Question Number : 36 Question Id : 87827042015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ffafad § wE-9t S gfod S % R0 2 el © 2

(1) &0

(2) sfeaR/afE

(3) TAREIS

(4) aufcer
Options :

878270164981. 1



878270164982. 2
878270164983. 3

878270164984. 4

Question Number : 37 Question Id : 87827042016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I Toxic chemicals often injure human organs and organ systems.
Statement I1:  Toxicants that damage kidneys are called as Hepatotoxic.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270164985. 1

878270164986. 2

878270164987. 3

878270164988. 4

Question Number : 37 Question Id : 87827042016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%@imﬁf{w%:

FUT]:  Tawed TR T e o ST WMa S 9 W e vgeEn €
FUT: 9 g0 91 T i THIH TE9N €, 3% eURIRIGEE Fel S ¢ |
I FYH o A H, = I T foskedi § 9 W& I T4H HifoC
(1) Y1 AR HIT 1 SH el &

() AT R HAT I SH T ©
(3) Y I 9E B, lfehd SR 11 TTeTd ©
(4) YT 1A T, AfFT RO T €
Options:

878270164985. 1

878270164986. 2

878270164987. 3

878270164988. 4

Question Number : 38 Question Id : 87827042017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwing are related to ‘source reduction’ in inhegrated solid waste management ?

A)  Reduced Toxicity
B) Composting

) Landhll
E) More durable products

(

(

(C) Less Packaging
(D

(

Choose the correct answer from the options given below :
(1) (4) (8)and (C) Only
(2) (A), (C) and (E) Only
(3) (B), (C) and (D) Only
® (), (D)and (E) Only

Options :

878270164989. 1



878270164990. 2
878270164991. 3

878270164992. 4

Question Number : 38 Question Id : 87827042017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

quferd 3 s yeve ¥, freferea § -9 8 e s’ | grafid §2

(A) T9=Tae femmaR
(B) ZHURE FAMI

(C) THfS W FT
(D) el

E) e femrs 3R
e feu e fosred @ U@ IR #1999 Fife
() e (A), (B) R ()
(2) o (A), (O 3R (E)
(3) e (B), (C) ¥ (D)
(4) % (C), (D) &R (E)
Options :

878270164989. 1
878270164990. 2
878270164991. 3
878270164992. 4

Question Number : 39 Question Id : 87827042018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Depletion of stratospheric ozone results into

(A) Increase in the ultraviolet radiation

(B) Increase in infra-red radiation

(C) Increase in skin cancer

(D) Significant impact on terrestrial flora and fauna
(E) Decrease in cataract cases

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2) (A), (C) and (D) Only

3) (B), (©), (D) and (E) Only

(4) (A), (B) and (C) Only

Options:
878270164993. 1
878270164994. 2

878270164995. 3
878270164996. 4

Question Number : 39 Question Id : 87827042018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Hee g SSTH o Ffaaemtor (&) =1 999 81 ©
(A) e farferwor # gfg

(B) 3TeEd fafetu # dfg

(C) = FmH gfg

(D) Treira seafadi 31 Sia sigefi W Ayl guE
(E) wifaanfeg o el § Hl

A1 few T fomredi # § W& IO H =TI I ;
(1) 9 (A), (B), (C) 3R (D)

(2) F=d (A), (O) ¥R (D)

(3) %4 (B), (O), (D) 3R (E)

(4) %9 (A), (B) 3 (C)

Options :

878270164993. 1
878270164994. 2
878270164995. 3
878270164996. 4

Question Number : 40 Question Id : 87827042019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Nitrous Oxide (N,O).

(A) causes acid rain

(B) islaughing gas

(C) 1is carcinogenic

(D) is a green house gas

(E) is a criterion air pollutant
Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

() (O, (D) and (E) Only

(3) (B) and (D) Only

(4) (A) and (E) Only

Options:
878270164997. 1
878270164998. 2

878270164999. 3

878270165000. 4

Question Number : 40 Question Id : 87827042019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



egH ARTES (NyO)
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(D) WrE=g e

(E) T Hah agugua & |

A= feu 7o fasredi § € 9 39 &1 994 S
(1) = (A), (D) 3R (E)

(2) 9 (C), (D) ¥R (E)
(3) A (B) &R (D)
(4) A (A) 3R (E)
Options :

878270164997. 1
878270164998. 2
878270164999. 3
878270165000. 4

Question Number : 41 Question Id : 87827042020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Michael Sadler commission was constituted to study the problems of :
(1) Bombay University

(2) Madras University
(3) Poona University
(4) Calcutta University

Options :

878270165001. 1
878270165002. 2
878270165003. 3
878270165004. 4



Question Number : 41 Question Id : 87827042020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) il favafaeme
(2) e fovefaemed
(3) T fevefararea
(4) Serr fagafeaaed
Options :

878270165001. 1
878270165002. 2
878270165003. 3

878270165004. 4

Question Number : 42 Question Id : 87827042021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 1986 recommended the establishment of _in the country.
(I) Community colleges

(2)  Open universities

(3) National universities of eminence

(4)  Discipline-wise universities

Options:

878270165005. 1
878270165006. 2
878270165007. 3
878270165008. 4



Question Number : 42 Question Id : 87827042021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
et foner Hifa, 1986 = <1 T forgert o= T fawif &1 off ?
(1) HIHeIEes Helfa=ed

) He favafeaered

(3) U™ Scpreal favafaere™
) Taug-anr feavafasrem

Options :

878270165005. 1

878270165006. 2

878270165007. 3

878270165008. 4

Question Number : 43 Question Id : 87827042022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [ :  Curzon's uniuersit_\F reforms reflected the official attitude towards the spread of
higher education in [ndia.

Statement Il :  There was no resistance to the Indian universities Bill piloted by Curzon from
any section of Indians,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are true
2)  Both Statement I and Statement I are false

(
(3)  Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

8782701650009. 1



878270165010. 2
878270165011. 3

878270165012. 4

Question Number : 43 Question Id : 87827042022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270165009. 1
878270165010. 2
878270165011. 3

878270165012. 4

Question Number : 44 Question Id : 87827042023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Ancient thinkers) (Area of study)
(A) Panini ()  Astronomy
(B) Jivaka (II) Grammar
(C) Bhaskara (IIT) Medicine
(D) Kanada (IV) Physics

Choose the correct answer from the options given below :
(1) (A)-(IL), (B)~(1D), (C)-(I), (D)-(IV)

(2)  (A)-(ID, (B)-(D), (O)(I), (D)-(IV)

(3) (A1), (B)-(l1), (C)-(I), (D)-(IV)

(4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(II)

Options :

878270165013. 1

878270165014. 2

878270165015. 3

878270165016. 4

Question Number : 44 Question Id : 87827042023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
Ti-1 -1

(e faemes ) ( ITT &)
(A) rforE ) Ea-fasm
(B) i@k (I) AR
(C) Wr=RY (I11) Tafshem
(D) TS (IV) Hifaerame

= feu v fasredi § § 98 I F1 =94 S
(1) (A)(I), (B)-(1D), (O)-(I), (D)-(IV)

(2)  (A)-(ID), (B)-(1), (O)-(I), (D)-(IV)
(3) (A1), (B)-(D), (©O)-{), (D)-(IV)
4) (A1, (B)-(1V), (O-(1), (D)-(I1)

Options :

878270165013. 1
878270165014. 2
878270165015. 3
878270165016. 4

Question Number : 45 Question Id : 87827042024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - I

(Name of University) (Year of Establishment)
(A) Bombay University (I) 1916
(B) Delhi University (II) 1943
(C) Utkal University (Im) 1922

-,

(D) SN.D.T. Women University (IV) 1857

Choose the correct answer from the options g'wen below :

(1) (A)-(V), (B)-(IL), (C)-(ID), (D)-(I)
(2) (A1), (B)-(IV), (C)(1D), (D)-(0)
(3)  (A)-(IV), (B)-(I), (C)-(1), (D)-(IT)
(4)  (A)-(), (BI-(II), (C)-IV), (D)-(0)
Options :

878270165017. 1
878270165018. 2
878270165019. 3

878270165020. 4

Question Number : 45 Question Id : 87827042024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 G-I = e sife
ﬁ?ﬁ.l -11

( favafaemer & m) ( FRITOET oY )
(A) dirl favaforme (I) 1916
(B) feoeht favafammem (I) 1943
(C) Ichd Tavaia=med (1) 1922

(D) TH.UAELE. Hfgen fagafaemem (IV) 1857
= feu U fomredi § ¥ W& I N =999 HIfGT
(1) (A)-(IV), (B)-(IIL), (C)-(ID), (D)-(I)

(2)  (A)-(I), (B)-(IV), (C)-(1I), (D)-(D)

() (A)-(IV), (B)-(I), (O)-(T), (D)-(I)

(4) (A=), (B)-(11), (©)-(1V), (D)-(I)
Options :

878270165017. 1
878270165018. 2
878270165019. 3
878270165020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701757
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827042025 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage and answer the questions that follow :

Science and the techniques to which it has given rise have changed human life during the
last hundred and fifty years more than it had been changed since men took to agriculture, and the
changes that are being wrought by science continue at an increasing speed. There is no sign of any
new stability to be attained on some scientific plateau. On the contrary, there is every reason to
think that the revolutionary possibilities of science extend immeasurably beyond what has so far
been realised. Can the human race adjust itself quickly enough to these vertiginous transformations,
or will it, as innumerable former species have done, perish from lack of adaptability? The dinosaurs
were, in their day, the lords of creation, and if there had been philosophers among them, not one
would have foreseen that the whole race might perish. But they became extinct because they
could not adapt themselves to a world without swamps. In the case of man and science there is a
wholly new factor, namely that man himself is creating the changes of environment to which he
will have to adjust himself with unprecedented rapidity. But, although man through his scientific
skill is the cause of the changes of environment, most of these changes are not willed by human
beings. Although they come about through human agencies, they have, or at any rate have had so
far, something of the inexorable inevitability of natural forces. Whether Nature dried up the swamps
or men deliberately drained them, makes little difference as regards the ultimate result. Whether
men will be able to survive the changes of environment that their own skill has brought about is an
open question. If the answer is in the affirmative, it will be known some day; if not, not. If the
answer is o be in the affirmative, men will have to apply scientific ways of thinking to themselves
and their institutions.

Sub questions

Question Number : 46 Question Id : 87827042026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Dinosaurs became extinct because of :
(I) A massive earthquake
) Incessant rainfall
(3) Extreme cold
) Lack of adaptability
Options :
878270165021. 1
878270165022. 2
878270165023. 3

878270165024. 4



Question Number : 47 Question Id : 87827042027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the scientific age who is responsible for the changing environment ?

(1) Nature

(2) Man

(3) Natural Disasters
(4) Wars
Options :

878270165025. 1
878270165026. 2
878270165027. 3
878270165028. 4

Question Number : 48 Question Id : 87827042028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main focus of the passage is on :
(1) Extinchion of Species

(2) Extinction of Dinosaurs

(3) Science and Human life

(4) Destruction of Forests

Options :

878270165029. 1

878270165030. 2

878270165031. 3

878270165032. 4

Question Number : 49 Question Id : 87827042029 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i

“If the answer is in the affirmative .......... refers to the question related to :
(1) Changes in environment
(2)

(3) Human extinction

(4)

B!

Human survival

Changes in scientific approach
Options :

878270165033. 1

878270165034. 2

878270165035. 3

878270165036. 4

Question Number : 50 Question Id : 87827042030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
According to the passage the following are true :
A) Science is bringing about rapid changes.
B) There is every likelihood that a scientific plateau will be reached.

D) There are chances that mankind may become extinct due to lack of adaptability.

(
(
(C) Man will definitely perish like the Dinosaurs,
(
(

E) Changes in the environment made through human agencies have so far shown almost the
same inexorable inevitability as that of natural forces in the past.

Choose the correct answer from the options given below :
(I) (A), (D) and (E) Only

) (4),(8)and (E) Only

(3) (A) and (E) Only

(4) (B), (C) and (E) Only

Options :

878270165037. 1

878270165038. 2



878270165039. 3

878270165040. 4

Question Id : 87827042025 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827042026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) 99 Y&y

(2) R aui

(3) =RW/aATAfaE i

(4)  FTIFHAAEA HT FHHI
Options:

878270165021. 1
878270165022. 2
878270165023. 3
878270165024. 4

Question Number : 47 Question Id : 87827042027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 7 H waterer WiadA % fau #e SweEr € 2

(1) ¥

(2) HAIR/HTTE

(3) WM AT

(4) 95
Options:

878270165025. 1
878270165026. 2
878270165027. 3

878270165028. 4

Question Number : 48 Question Id : 87827042028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270165029. 1
878270165030. 2
878270165031. 3

878270165032. 4

Question Number : 49 Question Id : 87827042029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) 9FieRT ¥ qftEd

(2) TS ST

(3) WM faqwiew

(4) T T H gREd
Options :

878270165033. 1
878270165034. 2
878270165035. 3

878270165036. 4

Question Number : 50 Question Id : 87827042030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270165037. 1

878270165038. 2

878270165039. 3

878270165040. 4
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Sub-Section Number : 1

Sub-Section Id : 8782701758
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 87827042031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Realist apprnach to international leincs i1s focused on :

(1) State of peace

(2) Disarmament
(3) Power politics
(4) Decolonization
Options :

878270165041. 1
878270165042. 2
878270165043. 3

878270165044. 4

Question Number : 51 Question Id : 87827042031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270165041. 1



878270165042. 2
878270165043. 3

878270165044. 4

Question Number : 52 Question Id : 87827042032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Michael Foucault, there is link between :
(1) Arms and military power

(2) Animal and environment security
(3) Power and knowledge

(4) Arms race and power

Options :

878270165045. 1
878270165046. 2
878270165047. 3
878270165048. 4

Question Number : 52 Question Id : 87827042032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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(3) wifeR SR I
(4) I S 3N vk
Options:
878270165045. 1

878270165046. 2



878270165047. 3

878270165048. 4

Question Number : 53 Question Id : 87827042033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The discipline of International Relations emerged after :
(1) The Second World War
)  West Phalian Treaty
(3) The First World War
) Rise of Stalin
Options :
878270165049. 1
878270165050. 2
878270165051. 3

878270165052. 4

Question Number : 53 Question Id : 87827042033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270165049. 1
878270165050. 2

878270165051. 3



878270165052. 4

Question Number : 54 Question Id : 87827042034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Keohane and Nye International Relations are defined by :
(1) Cultural Race

(2) Intra-state rivalry

(3) Complex interdependence

(4) Human security

Options :

878270165053. 1

878270165054. 2

878270165055. 3

878270165056. 4

Question Number : 54 Question Id : 87827042034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 87827042035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Treaty of Westphalia took place in the year :

(1) 1468
(2) 1660
(3) 1648
(4) 1948
Options :

878270165057. 1
878270165058. 2
878270165059. 3

878270165060. 4

Question Number : 55 Question Id : 87827042035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I e =1 Y forg =g | ] T off 7
(1) 1468
(2) 1660
(3) 1648
(4) 1948
Options:

878270165057. 1
878270165058. 2
878270165059. 3

878270165060. 4

Question Number : 56 Question Id : 87827042036 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which port in Iran is of economic and strategic significance for India ?
(1) Hambantota port

(2) Djibouti port
(3) Chabahar port
(4) Port of Victoria

Options :

878270165061. 1
878270165062. 2
878270165063. 3

878270165064. 4

Question Number : 56 Question Id : 87827042036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
$F 1 S T U uRa & T enfdier oIk aerifas ofte & weeg €2
(1) TwHaee 9e

(2)  fomt e
(3) ETETER YR
(4) ToeRifn O
Options:

878270165061. 1
878270165062. 2
878270165063. 3

878270165064. 4

Question Number : 57 Question Id : 87827042037 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which Country joined the SCO as the ninth member ?

(1) Iraq
(2) Iran
(3) Japan
(4) Nepal
Options :

878270165065. 1
878270165066. 2
878270165067. 3
878270165068. 4

Question Number : 57 Question Id : 87827042037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SCO ¥ ynfiet B9 aTeA a1 <91 Shidn o7 ?
(1) =0k

(2 =

(3) S

(4) I

Options :

878270165065. 1
878270165066. 2
878270165067. 3

878270165068. 4

Question Number : 58 Question Id : 87827042038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The Second World War would not have happened without :
(1) Rise of China

) Rise of Hitler

(3) Growing power of Brazil

)} Role of India

Options :

8782701650609. 1

878270165070. 2

878270165071. 3

878270165072. 4

Question Number : 58 Question Id : 87827042038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fferfaa o | frges fom fgdia fava g5 =21 2 ?

(1) =4 13T

(2) feee =1 34

(3) STSirel sl AHfes i

(4) WRA F e
Options :

878270165069. 1
878270165070. 2
878270165071. 3

878270165072. 4

Question Number : 59 Question Id : 87827042039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Marxist considered the First World War as :
(1) Environmental war
(2)
(3) Imperialist war
(4)

War for peace

War for Democratic balance of power

Options:

878270165073. 1
878270165074. 2
878270165075. 3

878270165076. 4

Question Number : 59 Question Id : 87827042039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HreFdaTer wer fava g5 = ura o
(1) "EEE g5

(2) ifd =g IS

(3) WHEEETE IS

(4) WS Hger & fae 73
Options :

878270165073. 1
878270165074. 2
878270165075. 3
878270165076. 4

Question Number : 60 Question Id : 87827042040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the fﬂ]li}w'mg is known as ‘' Alliance of East’ ?

(1) NAFTA

(2) BRICS
(3) SCO
(4) QUAD
Options:

878270165077. 1
878270165078. 2
878270165079. 3
878270165080. 4

Question Number : 60 Question Id : 87827042040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fretferfiae & & Frd ‘g8 % TeEER’ ¥ w9 ST ST R 2

(1) =

(2) foremg

(3) THH =M

(4) 1=
Options :

878270165077. 1
878270165078. 2
878270165079. 3
878270165080. 4

Question Number : 61 Question Id : 87827042041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



International pnljljcs during Cold War pm‘imd can be characterised as :
(1)  Unipolar

(2) Bipnlar

(3) Multipolar

(4) Polycentric

Options:

878270165081. 1

878270165082. 2

878270165083. 3

878270165084. 4

Question Number : 61 Question Id : 87827042041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Id g5 o QA Saueda TrHifd b1 fafa foran s g @
(1) THYHE

(2) fgyd™
(3) “EYS™
(4) wEHEE
Options :

878270165081. 1
878270165082. 2
878270165083. 3
878270165084. 4

Question Number : 62 Question Id : 87827042042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Samuel Hun[ingtnn's ‘Clash of Civilization” focused on tension between :
(I) East and West

(2) North and South

(3) Nations and group from "different civilisations’

(4) US and Russia

Options:

878270165085. 1

878270165086. 2

878270165087. 3

878270165088. 4

Question Number : 62 Question Id : 87827042042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Aneret g @l T ae  ffaes’ fFrfafen & ne T W ke ©
(1) T R oo

2) I SR TfEm

3) T IR EgE W fafv wermed 4 €

) FTH. N EY

a2

{
(4
Options :

878270165085. 1
878270165086. 2
878270165087. 3

878270165088. 4

Question Number : 63 Question Id : 87827042043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The United States of America proposed the Marshall plan for :
(1) Rebuilding of Australia

(2) Rebuilding of Indonesia

(3) Rebuilding of Europe

(4) Rebuilding of Africa
Options:

878270165089. 1

878270165090. 2

878270165091. 3

878270165092. 4

Question Number : 63 Question Id : 87827042043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Ggad TsF AU A Hielel @l drdifer fora
(1) FEforan =1 g
) SEMfeTEn 1 g
(3) FAT ] A
) SRR 1 GATHTT
Options :
878270165089. 1
878270165090. 2
878270165091. 3
878270165092. 4

Question Number : 64 Question Id : 87827042044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Globalization can best be defined as :

(1) Challenge to liberalism

(2) Increasing interdependence among nations

(3) Increasing rivalries between China and North Korea
(4) Cold War Status quo

Options:

878270165093. 1

878270165094. 2

878270165095. 3

878270165096. 4

Question Number : 64 Question Id : 87827042044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Svelferrer =1 ffafe w9 9 watam 20 9§ aftfa feran s geear &

(1) SERERE =l Al
(2) WL F S Fedt g Y
(3) = SR I HIRAT o &9 F@dl Ffagiadm
(4) irags FgTiefd
Options :

878270165093. 1
878270165094. 2
878270165095. 3
878270165096. 4

Question Number : 65 Question Id : 87827042045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fukuyama’s ‘End of History’ is linked to :
(1) End of Liberalism

(2) Emergence of critical theories

(3) Triumph of Liberalism

(4)

Emergence of Myanmar

Options:

878270165097. 1
878270165098. 2
878270165099. 3
878270165100. 4

Question Number : 65 Question Id : 87827042045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
FEHAH! e o1 et frafafes § | fred gag 872
(1) SERAE & 3
(2) Torfesra forrdl (erai=mTensh fagidr)
(3) SEREmE =i fasy
(4) I k1 354
Options :
878270165097. 1
878270165098. 2
878270165099. 3
878270165100. 4

Question Number : 66 Question Id : 87827042046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which country joined the International Solar Alliance (ISA) in 2023 ?

(I) Japan
(2) Brazil
(3) Algeria
(4) Bolivia
Options:

878270165101. 1
878270165102. 2
878270165103. 3

878270165104. 4

Question Number : 66 Question Id : 87827042046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I |1 S¥ 2023 T Ay Ger |9y (T Tg U) 9 S8 R 2

(1) <maH
(2) WS
(3) wfesiea
(4)  shferfer
Options :

878270165101. 1
878270165102. 2
878270165103. 3

878270165104. 4

Question Number : 67 Question Id : 87827042047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The US Strategic Defense Initiative (SDI) program was associated with which administration ?
(1) Carter

(2) Reagan

(3) Kennedy

(4) Clinton

Options:

878270165105. 1

878270165106. 2

878270165107. 3

878270165108. 4

Question Number : 67 Question Id : 87827042047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
7 U9 T 6 (v 2 od) FEwn fefafed § 9 fRw geme ¥ deag ar?

(1) T
2) T
(3) el
(4) TaeTUed
Options :

878270165105. 1
878270165106. 2
878270165107. 3
878270165108. 4

Question Number : 68 Question Id : 87827042048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Clausewitz considered war as a :
(1) Defense weapon to destroy enemy

(2) Political weapon continuation of politics by other means
(3) Weapon of peace during cold war period

(4) Weapon of culture

Options:

878270165109. 1
878270165110. 2
878270165111. 3

878270165112. 4

Question Number : 68 Question Id : 87827042048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
FeArsiazst 45 ol 7Hd 9

(1) ek efYar goaHl 1 T52 & o
(2) &g "HAEl § USHITG RS T
(3) wifad % i sfa-g8 & SR
(4) HIEFTF T

Options :

878270165109. 1

878270165110. 2

878270165111. 3

878270165112. 4

Question Number : 69 Question Id : 87827042049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which year the European Economic Community was established ?

(1) 1949
(2) 1950
(3) 1957
(4) 1962
Options:

878270165113. 1
878270165114. 2
878270165115. 3

878270165116. 4

Question Number : 69 Question Id : 87827042049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TATEA SHRATE FHGel Fel a4 off ?

(1) 1949
(2) 1950
(3) 1957
(4) 1962

Options :

878270165113. 1
878270165114. 2
878270165115. 3

878270165116. 4

Question Number : 70 Question Id : 87827042050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In the Permanent Court of Arbitration (PCI, Hague in July 2016) rejected China’s claim and
sovereign rights over :

(1) Antarctica

(2) Africa

(3) South China Sea

(4) Indian Ocean

Options:

878270165117. 1
878270165118. 2
878270165119. 3
878270165120. 4

Question Number : 70 Question Id : 87827042050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

THE e A aqfefey (PCI, ¥, e 2016) % 4 % fvg i afe iy arforardl 9 et foen?
(1) Herkfea

R

(3) TR
(4) fem s
Options :
878270165117. 1
878270165118. 2
878270165119. 3

878270165120. 4

Question Number : 71 Question Id : 87827042051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which year the UN Peacekeeping Commission was established ?

(1) 2003
(2) 2005
(3) 2006
(4) 2007
Options:

878270165121. 1
878270165122. 2
878270165123. 3

878270165124. 4

Question Number : 71 Question Id : 87827042051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hgar T INd TATYT STENT i w191 fohy a9 g3 of ?

(1) 2003
(2) 2005
(3) 2006
(4) 2007

Options :

878270165121. 1
878270165122. 2
878270165123. 3

878270165124. 4

Question Number : 72 Question Id : 87827042052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which UN Organ functions from Peace Palace in The Hague ?
(I) UN Security Council (UNSC)
(2) General Assembly (GA)
(3) Economic and Social Council
)

(4

International Court of Justice

Options:

878270165125. 1
878270165126. 2
878270165127.3

878270165128. 4

Question Number : 72 Question Id : 87827042052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

a2 T FA G E B F I Yo (ifq weer) § ww war € 2
(1) HIe T Gam qieg (9 O T D)

(2) wEE (SiT)
(3)  afeleR we FTHITSRR TG
(4) S =

Options :

878270165125. 1
878270165126. 2
878270165127. 3

878270165128. 4

Question Number : 73 Question Id : 87827042053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



India adopted policy of Non-Alignment to keep itself aloof from :
(1) Economic powers

(2) United Nations

(3) Superpowers Rivalry
(4) European Union
Options:

878270165129. 1
878270165130. 2
878270165131. 3
878270165132. 4

Question Number : 73 Question Id : 87827042053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

R 3w ) et 4 i 4 g vE ¥ fow e e i 3 s
(1) anfefe wife

() ¥ T

(3) vemIfaRm Fi gl

(4) 27 (i H)

Options :

a2

878270165129. 1
878270165130. 2
878270165131. 3
878270165132. 4

Question Number : 74 Question Id : 87827042054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Security and Growth for All in the Region (SAGAR) refers to :
(1) Space security

{3) Huﬂ‘lﬁ]’i WE‘].fare
(4) Feminism
Options :

878270165133. 1
878270165134. 2
878270165135. 3

878270165136. 4

Question Number : 74 Question Id : 87827042054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

a3 H gfi o fore qean wd gfg (9rm) fefafad o 9 feey Hefid €2

(1) fafe () g

() W G
(3) HMFE HA
(4) e
Options :

878270165133. 1
878270165134. 2
878270165135. 3
878270165136. 4

Question Number : 75 Question Id : 87827042055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who was India’s Defense Minister during India China war, 1962 ?
(1) G.B. Pant

(2) V.K. Krishna Menon

(3) Jagjivan Ram

(4) R.N. Thapar

Options:

878270165137. 1

878270165138. 2

878270165139. 3

878270165140. 4

Question Number : 75 Question Id : 87827042055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YRA 1 g§, 1962 H WA & &I T3l hH & 7
(1) S 9a

(2) .ok FOT HAA

(3) SETSiEA M

(4) SLTA. 9T

Options :

878270165137. 1

878270165138. 2

878270165139. 3

878270165140. 4

Question Number : 76 Question Id : 87827042056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Indus Water Treaty of 1960 was signed in which of the following city ?
(1) Lahore

(2) New Delhi

(3) Karachi

(4) Islamabad

Options:

878270165141. 1

878270165142. 2

878270165143. 3

878270165144. 4

Question Number : 76 Question Id : 87827042056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1960 1 Ty w1 o (Fem A foot) w feifefiaa o & farm wre o e gon on?
(1) ®ER

2) 8 feed
(3)

(4) TEHER
Options :
878270165141. 1
878270165142. 2
878270165143. 3

878270165144. 4

Question Number : 77 Question Id : 87827042057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Where is hr—:adquar ter of BIMSTEC located ?

(1) Dhaka

(2) Colombo

(3) Bangkok

(4) Kathmandu
Options:

878270165145. 1
878270165146. 2
878270165147. 3

878270165148. 4

Question Number : 77 Question Id : 87827042057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

farmeees =1 e el frem 82
(1) @Il
(2) Hical
(3)
(4) HESHIZ
Options :

878270165145. 1
878270165146. 2
878270165147. 3
878270165148. 4

Question Number : 78 Question Id : 87827042058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following two countries elevated their strategic partnership with the initiative on
Critical and Emerging Technology (iCET) in 2023 ?
() India and Russia

(2) India and United States
(3)  United States and Russia
(4) India and European Union
Options:

878270165149. 1
878270165150. 2
878270165151. 3

878270165152. 4

Question Number : 78 Question Id : 87827042058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
foetfefi & 9 e 21 991 3 2023 ol iR R 1 efefes AR fferel T8 g
Sl (iCET) # 3+7a fn 7
(1) 9 3 &
(2) 9 SR S
() o o
() R SR
Options :
878270165149. 1
878270165150. 2
878270165151. 3

878270165152. 4

Question Number : 79 Question Id : 87827042059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The concept of Vasudhaiva Kutumbkam originated from :
(1) Maha Upanishad

(2) Discovery of India

(3) My Experiments with Truth
(4) Geetanjali

Options :

878270165153. 1
878270165154. 2
878270165155. 3

878270165156. 4

Question Number : 79 Question Id : 87827042059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TS FEARH FI ST el F oA T 2
(1) el 390

(2) Tewralt &ifw sfoea

(3) R weufEe fayg 2y

(4)  THdrSTiCT i

Options :

878270165153. 1

878270165154, 2

878270165155. 3

878270165156. 4

Question Number : 80 Question Id : 87827042060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The International Day of Yoga is celebrated every year globally on :
(I) June 30

(2) June 21
(3) July 30
(4) July 21
Options:

878270165157. 1
878270165158. 2
878270165159. 3

878270165160. 4

Question Number : 80 Question Id : 87827042060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

steriedig =i feay yfqad g fava o e qmM@1 < € 2
(1) 30 A

(2) 2194

(3) 30 I

(4) 21 JaE

Options :

878270165157. 1
878270165158. 2
878270165159. 3
878270165160. 4

Question Number : 81 Question Id : 87827042061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



During 2023 New Delhi G-20 Summit, India announced a mega infra-economic project, the India-
Middle East-Europe Economic corridor. Which one of the following is not the part of the corridor ?
(1) UAE

(2) European Union

(3) Saudi Arabia

(4) Russia

Options:

878270165161. 1

878270165162. 2

878270165163. 3

878270165164. 4

Question Number : 81 Question Id : 87827042061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

2003 T 20 THeR, % foreh, % R 9RE A T W TR s mee dfven fifed 3R
SHITG 1 FRISR @i oo & | fefean & § 31 58 FRER @ o 7 ¢

m e

Q) i

(3) W

@)
Options :
878270165161. 1
878270165162. 2
878270165163. 3
878270165164. 4

Question Number : 82 Question Id : 87827042062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Azali Assoumani is the :

(1) Chairperson of the African Union

(2) President of WHO

(3) Chairman of UN Committee on Ukraine Crisis
)

(4) New Secretary General of G-20

Options :

878270165165. 1
878270165166. 2
878270165167. 3

878270165168. 4

Question Number : 82 Question Id : 87827042062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
TSI STEISTHA A € 7

(1) TR T oF =9 964
(2) Tava e §ed & e
(3) Foh Hehe W WA U HHE o =AU
(4) S 20 % 7T HEEEd
Options:

878270165165. 1

878270165166. 2

878270165167. 3

878270165168. 4

Question Number : 83 Question Id : 87827042063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Under the Constitution of India, ‘'Promotion of international peace and securit_v' is the part of :
(1) Fundamental duties

(2) Preamble

(3) Directive Principles of State Policy

(4) Fundamental Rights

Options:

878270165169. 1

878270165170. 2

878270165171. 3

878270165172. 4

Question Number : 83 Question Id : 87827042063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e % e § ¢ st wiifa qen qeen’’ & vieared fe 6 9§ foren fewm €7
(1) Wifa

(2) efem

(3) T % Mo fogh
(4) Hifers SRR
Options :

878270165169. 1
878270165170. 2
878270165171. 3

878270165172. 4

Question Number : 84 Question Id : 87827042064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Kherson and Luhansk are related to :
(1) South-China Sea

(2) Ukraine and Russia
(3) Taiwan-China

(4) Sweden and Finland
Options:

878270165173. 1
878270165174. 2
878270165175. 3

878270165176. 4

Question Number : 84 Question Id : 87827042064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
A aen deiee fefafea § € fFad gag 22
(1) e == 9

(2) Yok A TF

(3) dEaH =M

(4) T ad e
Options :

878270165173. 1
878270165174. 2
878270165175. 3

878270165176. 4

Question Number : 85 Question Id : 87827042065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IORA (Indian Ocean Rim Association) secretariat is situated in :
(I) Bangladesh

(2) Maldives

(3) Seychelles

(4) Mauritius
Options:

878270165177. 1
878270165178. 2
878270165179. 3
878270165180. 4

Question Number : 85 Question Id : 87827042065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3 & 3R U (Efegq e fy wEifgues) =1 gf=gered & © ¢

(1) SRy
(2) WEdE
(3) 9w
(4) HIEIH
Options :

878270165177. 1
878270165178. 2
878270165179. 3
878270165180. 4

Question Number : 86 Question Id : 87827042066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The special meeting of the UN Secm'it_v Council Counter-Terrorism Committee on ’Cnunlering the
use of New and Emerg'mg Technologi@s for Terrorist purposes’ was held on 22 October, 2022 in :
(1) New Delhi

(2) Mumbai

() Srinagar

(4) Chennai
Options:
878270165181. 1
878270165182. 2
878270165183. 3

878270165184. 4

Question Number : 86 Question Id : 87827042066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

" eI eV % fof 7 9 S EfTRa o qr fo W 6 T G RS # FRE

St et i foim 9o 22 arRaR 2022 A et H R oy v R g1

(1) = e
o o
(3) 4R
b
Options :
878270165181. 1
878270165182. 2
878270165183. 3
878270165184. 4

Question Number : 87 Question Id : 87827042067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which article of NATO Treaty deals with ‘Enlargement of Membership’ ?
(1)  Article 3

(2)  Article 10
(3) Article 15
(4) Article 16
Options :

878270165185. 1
878270165186. 2
878270165187. 3

878270165188. 4

Question Number : 87 Question Id : 87827042067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
el Gy = A | AT HeEd o forar| ¥ Hefte € 2
(1) =% 3
(2) #T=% 10

(3) #T=% 15

(4) TR 16

Options :

878270165185. 1

878270165186. 2

878270165187. 3

878270165188. 4

Question Number : 88 Question Id : 87827042068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Ramayan Circuit’ is associated with :
(1) India and Nepal

(2) India and Indonesia

(3) India and Srilanka

(4) India and Thailand

Options:

878270165189. 1

878270165190. 2

878270165191. 3

878270165192. 4

Question Number : 88 Question Id : 87827042068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"o withe ! faefafes W 9 ey gag ©2

(1) 9Rd Y1 491

(2) YRA 991 ZeHTE
(3) WA qU1 Arciehl
(4) WA 91 AT5cis
Options :

878270165189. 1
878270165190. 2
878270165191. 3
878270165192. 4

Question Number : 89 Question Id : 87827042069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following organisations was established by India to attain the sustainable
development goals ?

(1) Commission for Environment

(2) Niti Aayog

(3) Commission for Labour Development
(4)  Press Information Bureau
Options:

878270165193. 1

878270165194. 2

878270165195. 3

878270165196. 4

Question Number : 89 Question Id : 87827042069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o fomrg el 1 W e & fau ywe gn fefafea o 9 feg gred @ e w2

(1) TEE SEm
(2) ifd s
(3) 9 foars smam
(4) g
Options :

878270165193. 1
878270165194. 2
878270165195. 3

878270165196. 4

Question Number : 90 Question Id : 87827042070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



International law identifies four global commons. Which one of the fo]lowing is not among the
four ?

(I) Highseas

(2) The Atmosphere
(3) The Antarctica
(4) Global Pandemic
Options:
878270165197. 1
878270165198. 2
878270165199. 3

878270165200. 4

Question Number : 90 Question Id : 87827042070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
ST A R A A e % ¢ | fefe § 9 wH w0 wi @ el
() zEH

(@) A

(3) TR

(4) afer TR

Options :

878270165197. 1

878270165198. 2

878270165199. 3

878270165200. 4

Question Number : 91 Question Id : 87827042071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hedley Bull distinguishes three levels of justice in world politics :
(A) International or interstate justice

(B) Individual or human justice

(C) Prohibitive justice

(D) Imperial justice

(E) World justice

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only

2 (), (O, (D) Only
(3)  (A), (B), (E) Only
4) (B), (D) (E) Only

Options:

878270165201. 1
878270165202. 2
878270165203. 3

878270165204. 4

Question Number : 91 Question Id : 87827042071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tedl g faverrerifa § = % fFa a9 il | fawfsa s g2
(A) SIEREE 41 i =E

(B) dHafesh s1ga Wi =14
(C) wfauerenss =

(D) HHfEEEFE =

(E) fava =ma

= feu TTu forepedi W | WEH e I 9 HIN
(1) e (A), (B), (O)

(2) %94 (B), (O), (D)

(3) I (A), (B), (E)

(4) %9 (B), (D), (E)

Options :

878270165201. 1

878270165202. 2

878270165203. 3

878270165204. 4

Question Number : 92 Question Id : 87827042072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Characteristics of ‘Group think” approach in foreign policy, according to Irwing Janis, include :
[llusion of invulnerability

h
—_ =

(
(B)  Belief in inherent morality of the group
(C)  Selt-Censorship
(D) Reversion to Tribal state
(E)  Direct pressure on dissenters
Choose the correct answer from the options given below :
() (A) ®)(C) () Only
(

@ ®)(0) (D) E) Only
() (A), (B), (C), (E) Only
(4) (4.6, D) E
Options :

878270165205. 1
878270165206. 2
878270165207. 3

878270165208. 4

Question Number : 92 Question Id : 87827042072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gfom S o STaR facyrifa § ‘wg fae (qafeier) Surm =i favmamet | e © ;

(A) ST H 9w

(B) HWE & Hawd "iqohal W forgam

(C) @ren-faam

(D) SHSRTE T4

(E) fafyr= wa T ol W o

e feu T foreredi o W HerR e I I T HC ;

(1) = (A), (B), (C), (D)

() %@ (), (C), (D), (E)

(3) % (A), (B) () (B)

(4) (A), (B), () D) (E)
Options :
878270165205. 1
878270165206. 2
878270165207. 3

878270165208. 4

Question Number : 93 Question Id : 87827042073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Alexander Wendt suggests three ideal types of anarchy :
(A) Hobbesian

(B) Applebian

(C) Lockean

(D) Kantian

(E) Freudian

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) Only

(2)  (A), (O), (D), (E) Only

(3)  (A), (©), (D) Only

(4) (B), (), (D), (E) Only

Options:
878270165209. 1
878270165210. 2

878270165211. 3
878270165212. 4

Question Number : 93 Question Id : 87827042073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Az} SRl 3 1 e W 3 A e fen ¥
(A) TIeEER

(B) TUTHIAR

(C) kA

(D) HTeaTg

(E) TwhrEEdrR

e fou e foehedi § ¥ Hard e 3TY 6l =9 A
(1) = (A), (B), (O), (D)

(2) Fe (A), (O), (D), (B)

(3) F (A), (©), (D)

4) ¥ (B), (O), (D), (B)

Options :

878270165209. 1

878270165210. 2

878270165211. 3

878270165212. 4

Question Number : 94 Question Id : 87827042074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Law of Armed Conflict (LOAC) stipulates that countries may resort to armed forces only if following
criteria of ‘Jus ad Bellum' are met :

(A) Just cause

(B)  Proportionality

(C) Last resort

(D) Gandhian ideological confluence
(E)  Public declaration of war

Choose the correct answer from the options given below :
(1) (A), (B),(C), (D) Only

@ (A), () (C), (E) Only
(3) (), (C), (D), (E) Only
(@) (&) (), (C), D) (&)
Options :

878270165213. 1
878270165214. 2
878270165215. 3

878270165216. 4

Question Number : 94 Question Id : 87827042074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o o e fafr (v 2 v ) 9 w6 & 5 <9 e @ 09 96 9 T R 0 ¢ e 9 T8
oo’ & e el foreme A1)

e o o feredl W 4 e T T H A HI
]_) 2

(
(
()
(

Options :

878270165213. 1
878270165214. 2
878270165215. 3

878270165216. 4

Question Number : 95 Question Id : 87827042075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Chinese Communist Party indudes following party organs/offices :
(A) Politburo

(B) General Secretary

(C) National Party Congress

(D) Tiannenman square security congress

(E) Central Military Commission

Choose the correct answer from the options given below :
(1) (A), (B), (), (D) Only

(2) (B), (©), (D), (E) Only
(3)  (A) (B), (C) (E) Only
(4)  (B), (D), (E) Only
Options:

878270165217. 1
878270165218. 2
878270165219. 3

878270165220. 4

Question Number : 95 Question Id : 87827042075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=+ grererl 59§ frefatay ga svsEes afmfad €
(A) Wfere

(B) SFRA Hekell

(C) =9 9l FiTH

(D) Toraree < faefeE itg

(E) ®vze fhferR HHm

= feu TTu forepedi W | WEH e I 9 HIN
(1) 9 (A), (B), (O), (D)

(2) %= (B), (O), (D), (B)

(3) F=A (A), (B), (O) (B)

(4) %= (B), (D), (E)

Options :

878270165217. 1

878270165218. 2

878270165219. 3

878270165220. 4

Question Number : 96 Question Id : 87827042076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Cyber threats can be put into categories of :
(A) Cyber warfare

(B) Cyber espionage

(C) Cyber crime

(D) Cyber terrorism

(E) Cyber winter

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) Only

() (A), (B), (C), (D), (E) Only

(3) (B), (C), (D), (E) Only

4) (A), (©), (D), (E) Only

Options:

878270165221. 1
878270165222. 2
878270165223. 3

878270165224. 4

Question Number : 96 Question Id : 87827042076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



g |l o Fefafea afori o sier <1 g ©
(A) ¥HER g5
(B) TR STHE!
(C) W= 39
(D) WER ATdRAR
(E) Hrze fidehral
= feu TTu forepedi W | WEH e I 9 HIN
(1) 9 (A), (B), (O), (D)
() %94 (A), (B), (), (D), (E)
(3) 9 (B), (O), (D), (E)
(4) @ (A), (O), (D), (E)
Options :
878270165221. 1
878270165222. 2
878270165223. 3

878270165224. 4

Question Number : 97 Question Id : 87827042077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Underl}ri_ng assumptions of Mercantilism include the fD]lawing ;
(A) Humans are super natural

(B) Economics is superior to state interest

(C) International economy is conflictual

(D) Insecurity of anarchy breeds competition

(E) Economics is subordinate to state interest

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2) (A), (B), (E) Only

(3) (B), (D) (E) Only

(4) (O, (D), (E) Only

Options:
878270165225. 1
878270165226. 2

878270165227. 3

878270165228. 4

Question Number : 97 Question Id : 87827042077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



arforsare | sfafifed geumonsti § fr=fafea wH 9 wfva €2
(A)  HT HEAr B ¢ |

(B) atefezrereen U= fodl § Aeaa Biel ¢ |

(C) AaUedig refeqaen Heuicas: gl ¢ |

(D) TTSTRal Haefl STEEan | qfaeqei 3c7- erdl ¢ |

(E) srefeawen T4 fedi o 31+fF 2l < |

= feu TTu forepedi W | WEH e I 9 HIN
(1) = (A), (B), (O)

(2) FE (A), (B), (E)

(3) < (B), (D), (E)

4) ¥ (O), (D), (E)

Options :

878270165225. 1

878270165226. 2

878270165227. 3

878270165228. 4

Question Number : 98 Question Id : 87827042078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Negatiue sanctions as istruments of economic statecraft against a target state include :
A)  Grant of Most-Favoured Nations (MFN) status
)

(

(B

(C) Arms embargo
(

(

Freezing of assets
D) Export/Import limits of selected technology
E) Investment guarantees and tax breaks

Choose the correct answer from the options given below :
1) (A), ©) (C) Only

2 (@) (O) (D) Only
() (©), (D), (E) Only
(4) (A), (D), (E) Only
Options:
878270165229. 1
878270165230. 2
878270165231. 3

878270165232. 4

Question Number : 98 Question Id : 87827042078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dfera T % faeg anfeds w7 & oAl & &9 § gfaes o wfrer e g
(A) Haify TTsie ol T (TH T T) &6 i Sl
(B) UfEgfeal & Y=o W U

(C) e qfauy

(D) fawd (=rafd) drenfret < faia/smrd = |mm
(E) THoe T wd R H we

= feu U foreedi # 9§ wad IgER I F T FI

(

() a4 (B), (C), (D)
(3) =ad (C), (D), (E)
(4) a4 (A), (D), (B)
Options :

878270165229. 1
878270165230. 2
878270165231. 3
878270165232. 4

Question Number : 99 Question Id : 87827042079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Pakistan Army and Raiders launched offensive in Jammu and Kashmir in October, 1947. These
belonged to following tribes :

(A) Afridi

(B) Wazir

(C) Mahsud

(D) Swathi

(E) Sindhi

Choose the correct answer from the options given below :
() (4) () (C) ) Only

@ (A) (0 (D) () Only

G (A) (8) D), (B) Oy
@ (B) (0, (D) { Only
Options :
878270165233. 1
878270165234. 2
878270165235. 3

878270165236. 4

Question Number : 99 Question Id : 87827042079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R 1947 3 TR 3 iR o SRR 4R e f e et § 4 ware
T Y7

o i g
1) (A), (8) (0) D)
2) (), (0) (D), )
) ¥ (), (3) (D) (B
Y ) (D)

%é]”%%

B

f"“_:

( (
( (
( (
( B) |

Options:

878270165233. 1
878270165234. 2
878270165235. 3

878270165236. 4

Question Number : 100 Question Id : 87827042080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The ‘Four Power Treaty” on Berlin in 1971 included the following countries :

(A) Britain
(B) France

(C) China

(D) United States

(E) USSR

Choose the correct answer from the options given below :

D) (A, (B), (C), (D) Only

(2 (B), (©), D) (E) Only
) (B) (Q) (D) Only

4) (A), (B), (D), (E) Only
Options:

878270165237. 1
878270165238. 2
878270165239. 3
878270165240. 4

Question Number : 100 Question Id : 87827042080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



9 1971 H afci # ‘T R e g’ # ffafed 0 9 <0 s 97
(A) fored

(B) wH
(C) =M
(D) TMEE RTH
(E) 379 TH 3R
= feu U fershedi H 9 HEH U AT HI T HIWC
(1) s (A), (B), (C), (D)
(2) &= (B), (C), (D), (B)
(3) = (B), (C), (D)
(4) e (A), (B), (D), (E)
Options :

878270165237. 1
878270165238. 2
878270165239. 3

878270165240. 4

Question Number : 101 Question Id : 87827042081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Types of enforcement of International Law include :

(A) Vertical enforcement

(B) Horizontal enforcement

(C) Self interest

(D) Norms and ethics

(E) Climate change Mitigation

Choose the correct answer from the options given below :
(1) (A), (B), (O), (D) Only

(2) (A), (B), (D), (E) Only
(3) (B), (©), (D), (E) Only
4) (A), (©), (D), (E) Only

Options:

878270165241. 1
878270165242. 2
878270165243. 3

878270165244. 4

Question Number : 101 Question Id : 87827042081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



St fafy & gada & yenl o frefafaa =4 9 wfre €2

(A) FEAET Yo
(B)  &fferst W
(C) w@-fed

(D) TS Te A(faeme
(E) Sioteryg uiterdd gem=
e feu T forepedi W | WEH S0ge Il =9 FHE ;
(1) = (A), (B), (O), (D)
(2) %99 (A), (B), (D), (E)
(3) = (B), (©), (D), (B)
4) &A@ (A), (O), (D), (B)
Options :

878270165241. 1

878270165242. 2

878270165243. 3

878270165244. 4

Question Number : 102 Question Id : 87827042082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Absolute monarchy under authoritarian rule exists in following countries.
(A) Kuwait
(B) Qatar
(C) Venezuela
(D) Denmark
(E) Saudi Arabia

Choose the correct answer from the options given below :
(1) (A) (C), (E) Only

(2)  (A) (B), (D) Only

(3) (A), (B), (E) Only

@) (B), (), (D) (E) Only
Options:

878270165245. 1
878270165246. 2
878270165247. 3

878270165248. 4

Question Number : 102 Question Id : 87827042082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefefad fo 37 & Teamment o & oria ol Toms faemm &7
(A) Fad

(B) FN

(C) ST

(D) ETHH

(E) W3l W

A=t feu T feehedl # @ WA U I K = I
(1) = (A), (©), ()

(2) %9 (A), (B), (D)

(3) ad (A), (B), (E)

(4) F= (B), (O), (D), ()

Options :

878270165245. 1

878270165246. 2

878270165247. 3

878270165248. 4

Question Number : 103 Question Id : 87827042083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Following factors are associated with the end of the Cold War :
(A) Structural weakness of Soviet-style commission

(B) Impact of Gorbachev's reform process

(C) American policy and the “Second” Cold War

(D) Disintegration of Iran

(E) Economic and Cultural globalization

Choose the correct answer from the options given below :

(1) (A), (B), (©), (D) Only

2)  (B), (©), (D) (E) Only
(3)  (A) (B) (O (E) Only
4)  (A), (B), (D), (E) Only

¥

Options:

878270165249. 1
878270165250. 2
878270165251. 3
878270165252. 4

Question Number : 103 Question Id : 87827042083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wi g5 =i g ¥ 9 *ReF Fefafied €

(A) wifaad et  Grgere H HEHAHE gacrdl

(B) Tirai=ia & HUR I Yfehdl o1 G9Ta

(C) smfwet Hifa oIk ‘fadra e g3’

(D) A 1 faered

(E) snfefer =R Tiefas Svaiam

= feu TTu forepedi W | WEH e I 9 HIN
(1) % (A), (B), (C), (D)

(2) = (B), (O), (D), (E)
(3) ad (A), (B), (C), (E)
(4) A (A), (B), (D), (E)
Options :

878270165249. 1

878270165250. 2

878270165251. 3

878270165252. 4

Question Number : 104 Question Id : 87827042084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Following Republics became independent countries after the disintegration of USSR in 1991,
(A) Moldova
(B) Poland

(C) Belarus
(D)
(E)

£

D

Lithuania
Azerbaijan

Choose the correct answer from the options given below :

(1) (A), (B), (©), (D) Only

@ (4), (), (D), (E) Only
() B) (©) D) (E) Only
() (4), (), ©) D) E

Options:

878270165253. 1
878270165254. 2
878270165255. 3
878270165256. 4

Question Number : 104 Question Id : 87827042084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ad 1991 ¥ g TH Y IR o fosed & ae fefafad TR was 59 &9 T ;
(A) HrAEE

(B) S

(C) dERH

(D) ferganfan

(E) FSHaEH

i i T feraredi # B HR TR T T
(1) 5 (A), (B), (C), (D)

() ¥4 (A), (), (D), B)

(3) ad (B), (O, (D), (E)

(4 (A), (B), (©), D) (B)

Options :

878270165253. 1
878270165254. 2
878270165255. 3

878270165256. 4

Question Number : 105 Question Id : 87827042085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Mearsheimer’s neorealist stability theory, conditions of stable bipolarity include :
(A) Two Superpowers

(B) Several great powers

(C) Nuclear deterrence

(D) Europe during Cold War

(E) Conventional military rivalry

Choose the correct answer from the options given below :

(1) (A): (B), (), (D) Only

@ (4) ©) (D) Only
() ), (C), (D), (E) Only
() (©) (D), (E) Only
Options:

878270165257. 1
878270165258. 2
878270165259. 3
878270165260. 4

Question Number : 105 Question Id : 87827042085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eI o Fomendiar) feorn fagia (Fraffoe wfdfad o) & orer fer fgypha & w5
e g

Options:

878270165257. 1
878270165258. 2
878270165259. 3

878270165260. 4

Question Number : 106 Question Id : 87827042086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The lei{}f prescriptions of ‘Washjnglnn Consensus’ include the fn]lnwing ¥
Trade Liberalization

(A)

(B) Elimination of barriers to FDI

(C) Nationalization of state owned enterprises
(D) Enforcement of property rights

(E) Deregulation of the economy

Choose the correct answer from the options bwnn below :

(1) (A), (B), (C), (D) Only
(2)  (B), (O, D), (E) Only
(3) (A), (B), (D), (E) Only
(4) (A), (C), (D), (E) Only
Options:

878270165261. 1
878270165262. 2
878270165263. 3

878270165264. 4

Question Number : 106 Question Id : 87827042086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘anfeiTe wenfa ' o Hifa fufor § fefafes minea € ¢
(A) SATIR 1 IERIH

(B) TF € 3% & Ul sl GHIE HLAT

(C) T4 o e el JeHi 1 LI

(D) T fereRrl = Fed

(E) stefexaen =l fHfafama

e feu T forepedi W | WEH S0ge Il =9 FHE ;
(1) == (A), (B), (O), (D)

(2) = (B), (O), (D), (B)
(3) A (A), (B), (D), (E)
4) A (A), (O), (D), (B)
Options :

878270165261. 1

878270165262. 2

878270165263. 3

878270165264. 4

Question Number : 107 Question Id : 87827042087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Asian Tigers’ which experienced rapid economic growth were :
(A) Hong Kong

(B) Taiwan

(C) Singapore

(D) The Philippines

(E) South Korea

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) Only

(2) (B), (©), (D), (E) Only

() (A), (B), (C), (E) Only

(4) (C), (D), (E) Only

Options:
878270165265. 1
878270165266. 2

878270165267. 3
878270165268. 4

Question Number : 107 Question Id : 87827042087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=fta a1fel fasmm & e ufirem 2’ 9 .
(A) BITERIT

(B) dmEam™

(C) TR

(D) Twefdr=

(B) afeor i

A feu T fosredi § 9 WEd SUgeR ST h =94 HINT
(1) 9 (A), (B), (O), (D)

(2) %= (B), (O), (D), (B)

(3) =4 (A), (B), (C), (B)

(4) ¥4 (O), (D), (E)

Options :

878270165265. 1

878270165266. 2

878270165267. 3

878270165268. 4

Question Number : 108 Question Id : 87827042088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Steps taken by India to strengthen cyber defensive capabilities include the following :
(A) National cyber security policy announced and is being implimented
(B) National cyber security coordinator appointed in 2015
(C) National criminal center established

(D)

{

D
E) Indian Social Response Team

National Critical Information Infrastructure Protection center established

Choose the correct answer from the options given below :
(1) (A) (B), (C) Only

(2) (A), (B), (D) Only
) ), (C) (D) Only
4) (C), (D), (E) Only
Options:
878270165269. 1
878270165270. 2
878270165271. 3

878270165272. 4

Question Number : 108 Question Id : 87827042088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R i Iger T&ersk amaredi § 9fg #1 % fou fefafead wen fao .
(A) T HrEa e it 7 g &R ) o Fe

(1) a9 (A), (B), (O)
(¥ (A), (B), (D)
(3) 9 (B), (C), (D)
(4 99 (C) D), (E)
Options :

878270165269. 1
878270165270. 2
878270165271. 3

878270165272. 4

Question Number : 109 Question Id : 87827042089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As per 2019 Chinese defense white paper, following national defense aims and objective were
identified :

(

(B

(C) To safeguard PRC's maritime rights and interests
(

(

A) To safeguard national political security, the people security and social stability

) To oppose and contain ‘Taiwan independence’

D) Tojoin QUAD as a member
E) To support sustainable development of China

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only

Options:

878270165273. 1
878270165274. 2
878270165275. 3
878270165276. 4

Question Number : 109 Question Id : 87827042089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o 2019 3 = e Vo T F SRR, Fefeign T Sev o wed oA @ of
(A) T TS e, it e SR qree fora # a=

(B) ‘TEa' % T il o HA S I A

(C) T o T % T arfereprl o e 1 Tem

(D) TEE % TR HE ¥ 9t 2F

(E) =M & <refemiferes foem 2t werm &

A fe T el o ¥ WerH e S A T FIC

Options :

878270165273. 1
878270165274. 2
878270165275. 3

878270165276. 4

Question Number : 110 Question Id : 87827042090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following Scholars are regarded as Neoclassical realist ?
(A) Norrin M. Ripsman

(B) Jeffrey W. Taliferro

(C) Fareed Zakaria

(D) Steven E. Lobell

(E) Gideon Rose

Choose the correct answer from the options gven below :

N =

(1) (A), (B), (C), (D) Only
(2) (&), (©), (D), (E) Only
(3)  (B), (©), (D) (E) Only
4 (A) (B), (©), D) (B

Options:

878270165277. 1
878270165278. 2
878270165279. 3

878270165280. 4

Question Number : 110 Question Id : 87827042090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafea fa fagm = 79 sonfaee gendere arm s € 2
(A) RA TH, Regie

(B) W E5eg dTe

(C) g SERIfET

(D) =3[ 2. afad

() TfireH O

= feu o foeredi § | W& TR F =949 HifT
(1) =d (), (B), (O), (D)

(2) &= (A), (Q), (D), (B)

(3) 9 (B), (O), (D), (E)

4) (A), (B), (), (D), (E)

Options :

878270165277. 1

878270165278. 2

878270165279. 3

878270165280. 4

Question Number : 111 Question Id : 87827042091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Kautilya, which principles should govern a country’s foreign policy :
) King shall develop his state

) Those who help are friends

C) A prudent course shall always be adopted

(A

(B

(

(D) Non-violence is to be preferred in all circumstances
(E) King's behavior, in victory and in defeat, must be just
Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) Only
{

@ ®),(©), D) (E) Only
(3) (A), (B), (D), (E) Only
(4) (A), (B), (C), (E) Only
Options:

878270165281. 1
878270165282. 2
878270165283. 3

878270165284. 4

Question Number : 111 Question Id : 87827042091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fifeed % organ fefafa # 9 97 3 3 fagia S 9t fagw Hif #1 s #en =few?
(A) TS SO T59 I foehiad M

(B) N HeHw #d & 3 A A €

(C) WM 9fg WM Bl SO ST

(D) woft ftfeafaai H e i WA fem smom

(E) R e S § T 1 ST =i 8

= few T forredt o 9 W TR =7 FIC

[y

Options :

878270165281. 1
878270165282. 2
878270165283. 3
878270165284. 4

Question Number : 112 Question Id : 87827042092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Founding members of the Association of South East Asian Nations (ASEAN) include :
(A) Myanmar

(B) Cambodia

(C) Indonesia

(D) The Philippines

(E) Singapore

Choose the correct answer from the options given below :
() (A), C), (D) Only

(2) (4), (D), (E) Only
@) (B) (C) (D) Only
() (©), (D) (E) Only

Options:

878270165285. 1
878270165286. 2
878270165287. 3
878270165288. 4

Question Number : 112 Question Id : 87827042092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



<feror v ufvraE T g (ifae) % g gew § wite €
(A) MR

(B) FHaIfSAl

(C) FEMRm

(D) Twfafog

E) FEmR

3 faw o foeredi © § TR IR F =T FC -
(1) = (A), (©), (D)

(2) = (A), (D), (B)

(3) =@ (B), (O), (D)

(4) %= (C), (D), (E)

Options :

878270165285. 1

878270165286. 2

878270165287. 3

878270165288. 4

Question Number : 113 Question Id : 87827042093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify following statements regarding new age technology :

(A) John McCarthy coined the term “Artificial Intelligence”

(B) ‘Shakey’ was first mobile robot which employed artificial intelligence

(C) Apple launched ‘Sirf, a speech-recognition and language processing software in 2011
(D) A super computer defeated chess champion Garry Kasparov in 1989

(E) Workfusion, a platform which assigns work to humans was launched in 2003
Choose the correct answer from the options given below :

(1) (4) () (O Only

@ (), (C), (D) Only
@) (©), (D) (E) Only
(4)  (4), (B), (D) Only

Options:

878270165289. 1
878270165290. 2
878270165291. 3
878270165292. 4

Question Number : 113 Question Id : 87827042093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 7 iRt an ¥ Freifcias o # Team Hi

(A) T el 3 AR el Yo A Tl o A fE

(B) ‘W % Veen W e o for Fm afigwn @ v forn

(C) et 4 & 2011 H AR 1 TR i ATt SAT 9T ) T Al releR @ f
(D) T R #4778 1989 H Tl o e ) e A 70 fe

(E) W@ %! % W o] Wi aTeRee au 2003 ¥ @ forn 1 o

el few o ol 4 W S 8 7 A

(1) 9 (A), (8) (O

Options :

878270165289. 1
878270165290. 2
878270165291. 3

878270165292. 4

Question Number : 114 Question Id : 87827042094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[denljfy correct agreements made at Potsdam Conference 1945 :
(A) Division of Germany into four occupied zones

(B) To reestablished democracy in Germany

(C) Banning the Nazi party

(D) To more Finland frontier eastwards

(E) Germany to pay zero reparations

Choose the correct answer from the options given below :
(1) (A), (B), (D) Only

(2) (A), (B), (C) Only

(3) (B, (O, (D) Only

(4) (), (O, (E) Only

Options:
878270165293. 1
878270165294. 2

878270165295. 3
878270165296. 4

Question Number : 114 Question Id : 87827042094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



egen THeH 1945 § foFu 0 wE guehdl &1 gea w1
(A) S T fauTsH =R SH o

(B) Sl H TR ohl GAEATIAT

(C) s gt o yfdeie e

(D) ToFete i drmett % gd # 3k a5

(E) S Rl I &faqfd =1 7rae

% faw o faredi # § W TR F =9 FIAC -
(1) ad (A), (B), (D)

(2) = (A), (B), (O)

(3) =@ (B), (O), (D)

(4) % (B), (O), (B)

Options :

878270165293. 1

878270165294. 2

878270165295. 3

878270165296. 4

Question Number : 115 Question Id : 87827042095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify correct statements about Woodrow Wilson.
(A) US President 1913-25

(B) Served as President of Princeton University
(C) Worked as Governor of New Jersy

(D) Stipulated Fourteen Points Principle

(E) Cherished the idea of containment diplomacy
Choose the correct answer from the options given below :
(1) (A), (B), (O) Only

() (A), (D), (E) Only

(3) (B), (C), (D) Only

(4) (O, (D), (E) Only

Options:
878270165297. 1
878270165298. 2

878270165299. 3
878270165300. 4

Question Number : 115 Question Id : 87827042095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I oo o Ha9 | Hel FYAl ol ge= H |
(A) 3Wen T2afd 1913-25

(B) fided gfafdet & wfgsz & w9 # e
(C) = Sl & TR % ¥ H wH foFa

(D) =irew foig faia wfqarfed fear

(E) eHifaer s =1 feorem wee fera

= feu o fesredi § | W& SR A TG HifaC
(1) = (A), (B), (O)

(2) = (A), (D), (B)

(3) =@ (B), (O), (D)

(4) %= (C), (D), (E)

Options :

878270165297. 1

878270165298. 2

878270165299. 3

878270165300. 4

Question Number : 116 Question Id : 87827042096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 1I
Author Book
(A) Jack Snyder () India’s Role in Africa
(B) Renu Srivastava (I)  The Soviet Strategic Culture : Implications for Limited Nuclear
Operations
(C) Ian Taylor (If) China’s Foreign Relations
(D) Denny Roy (IV) India and the Non aligned Summits : Belgrade to Jakarta

Choose the correct answer from the options given below :
(1) (A}T), (BRI, (CH{T), (D)IV)

(2 (AHIV), (BD), (C)-{LLD), (D)0
() (AMI, B}V, (©)-(1), (DHII)
(4) (AR, (B)I), (CHIV), (D)
Options:

878270165301. 1
878270165302. 2
878270165303. 3

878270165304. 4

Question Number : 116 Question Id : 87827042096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tel-L o 91 i1 1 e it
Tl I

e TR
(A) T FEE () 3ferm @ 3 o
(B) T Faa (1) & ifer Tgefoe « e FPeoheg i fefies e sy
(C) 39 & () <A A v
(D) AT (V) 3fean e ¢ 7 Helge §eH : delE 2 S
el e T foehedl § ¥ WE SR H T I
(1) (A-D), (B}, (CHI), D)-(1v)
@ (AHIV), (B, (C)-), D)-0)
() (A-, B}-IV), (-1, (DHII)
(4) (A, (BHI), (CHIV), DI
Options :

878270165301. 1
878270165302. 2
878270165303. 3
878270165304. 4

Question Number : 117 Question Id : 87827042097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - II
Policy Leader
(A) Look East Policy () Narendra Modi
(B) Act East Policy (If) P. V. Narshinga Rao
(C) Non Aligned Policy (II) General Zia-ur Rahman
(D) SAARC (IV) Pandit Jawaharlal Nehru

Choose the correct answer from the options given below :

(1) (AHD), (B)-(I), (C)-(), (D)-(1V)

(2) (A1, B)-(1), (OIV), (D)-(I)
(3) (A, (B)(1V), (O)-(I), (D)-(I)
@) (A1), (B)(I), (O)-(1D), (D)-(1)

Options :

878270165305. 1
878270165306. 2
878270165307. 3

878270165308. 4

Question Number : 117 Question Id : 87827042097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife
-1 Et-11

ifa e
(A) T TF i () g A
(B) TR 3 uiferdl () 3. =g
(C) T Fue Hifa (IIl) R Foarsieam
(D) ETH (IV) dfed Seretad 1es

= feu U fosredi § € W& IO 1 =4 HifAC
() (A)D), (B)-(I), (C)(I), (D)-(IV)

(2)  (A)-(ID), (B)-(I), (C)-(IV), (D)~(IIT)

(3) (A, (B)-(1V), (O-(D), (D)-(IT)

(4)  (A)IV), (B)-(1L), (O)-(1I), (D)-(D)

Options :

878270165305. 1

878270165306. 2

878270165307. 3

878270165308. 4

Question Number : 118 Question Id : 87827042098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

Event Year
(A) Truman Doctrine announced (I) 1956
(B) Soviet Invasion of Hungry (i 18971
(C) Berlin wall is erected (I) 1947
(D) Communist China joins the UN (IV) 1961

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(IV), (C)-(I), (D)-(I)

(2)  (A)AIV), (B)-(1D), (CO)-(I1L), (D)-(L)

(3)  (A)-(IL), (B)-(I), (O)-(IV), (D)-(II)

(4)  (A)D), (B)-(II), (C)-(IT), (D)-(IV)

Options:

878270165309. 1

878270165310. 2

878270165311. 3

878270165312. 4

Question Number : 118 Question Id : 87827042098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife

e 2

T Y
(A) 8 fagia =i = () 1956
(B) T W Hifodd A (I 1971
(C) afel sl <& k1 e (1) 1947

(D) TTETE] =4 F HgE T MEA e (IV) 1961
=1 feu U faepedi § 9§ W& SO¢ 1 99F Fi

(1) (A1), (B)-(IV), (O)-(I), (D)-(11I)

(2)  (A)(IV), (B)-(1T), (O)-(I1I), (D)-(I)

(3) (A, (B)-(1), (C-(1V), (D)-(II)

4)  (A)(D), (B)-(LI), (C)-(II), (D)-(IV)

Options :

8782701653009. 1

878270165310. 2

878270165311. 3

878270165312. 4

Question Number : 119 Question Id : 87827042099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

Event Year
(A) Gulf war (I) 1993
(B) Establishment of European Union (II) 1994
(C) Rwandan Genocide (If) 1999
(D) Kosovo war (IV) 1991

Choose the correct answer from the options giv en below :

(D) (A)-), (B)-(1D), (©)-0), (D)-(IV)

(2)  (A)-(ID), (B)-(I1D), (C)-(IV), (D)-(I)
(3)  (A)-(I), (B)-(IV), (C)-(L), (D)-(II)
(4) (A)-(IV), (B)-(D), (C)-(IT), (D)-(11)
Options :

878270165313. 1
878270165314. 2
878270165315. 3

878270165316. 4

Question Number : 119 Question Id : 87827042099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife

B | -11
e Y
(A) TE IS () 1993
(B) U T i TATHAI (I) 1994
(C) &Sl k1 51 Hel (I1) 1999
(D) wHEE g5 (IV) 1991

= feu 7o foredi § | W& I 1 = ST
(1) (A)IL), (B)-(1D), (©)-(I), (D)-(IV)

(2)  (A)-(1D), (B)-(ILT), (C)-(1V), (D)-(I)

() (A)-D), (B)-(IV), (C)-(IID), (D)-(IT)

4)  (A)HIV), (B)-(D), (C)-(II), (D)-(I)

Options :

878270165313. 1

878270165314. 2

878270165315. 3

878270165316. 4

Question Number : 120 Question Id : 87827042100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
Author Book
(A) Niccolo Machiavelli (I)  In Defence of the National Interest
(B) Hans Morgenthau (II) Man, the state, and war
(C) Kenneth Waltz (II) The Prince
(D) Karl Marx (IV) Communist Manifesto

Choose the correct answer from the Dptiﬂns given below :

(1) (A)(I), (B}-(ILI), (C}(IV), (D)-(ID)
I

(2) (A, (B)HI), (OHI), (D)-V)
(3) (A1, B)-V), (©)-(), (D)-(I0)
(4)  (AHIV), (B, (©)-(), (D)-(0)

Options:

878270165317. 1
878270165318. 2
878270165319. 3

878270165320. 4

Question Number : 120 Question Id : 87827042100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Geil-1 o |e Geii-11 1 erm i
i1 -1

GicED T
(A) Tl Afwamee O 7 fery &ifw T a3
(B) &9 HFTH () ¥4, T W2 U8 IR
(C) =Y AreH (m) = "
(D) hTel HIEE (IV) wH HiTHeE

= feu o fosredi # O W& IR T 9T FHifo ;

(1) (A)-(D), (B}-(IL), (C)-(1V), (D)-(II)
(2)  (A(I), (B)~(D), (C)-(IT), (D)-(IV)
(3)  (A)-(1), (B)-(IV), (O)-(1), (D)-(1II)
(#)  (A)-(IV), (B)-(ID), (O)-(I1T), (D)-(1)
Options :

878270165317. 1
878270165318. 2
878270165319. 3
878270165320. 4

Question Number : 121 Question Id : 87827042101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

Leader Country
(A) Arif Alwvi ()  France
(B) Enamuel Macron (II) Pakistan
(C) Giorgia Meloni (ITI) Ethopia
(D) Abiy Ahmed (IV) Italy

Choose the correct answer from the options giv en below :

(1) (A)-(), (B)-(1V), (O)-(1), (D)-(11)

(2)  (A)-(IV), (B)(IIL), (C)~(1D), (D)-(I)
(3)  (A)-(I), (B)-(L), (C)~(II), (D)-(IV)
(4) (A)-(ID), (B)-(I), (C)-(IV), (D)-(1I)
Options :

878270165321. 1
878270165322. 2
878270165323. 3

878270165324. 4

Question Number : 121 Question Id : 87827042101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife
-1 -1

yar o
(A) HIRE Feal ) wig
(B) TATHUSA Hehi (I1) TR
(C) wwfstar Hamt (L) Zeqfoan
(D) enfaan e (IV) sealt

= feu 7o foredi § | W& I 1 = ST
() (A)I), (B)-(1V), (O)-(I), (D)-(IT)

(2)  (A)AIV), (B)-(II), (C)~(IL), (D)-(D)

() (A)-D), (B)-(1I), (C)(I), (D)-(IV)

(4) (A1, (B)-(I), (O-(1V), (D)-(II)

Options :

878270165321. 1

878270165322. 2

878270165323. 3

878270165324. 4

Question Number : 122 Question Id : 87827042102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

Treaty Year
(A) Partial Test Ban Treaty (I) 1967
(B) Outer Space Treaty (If) 1963
(C) Antarctic Treaty (IIT) 2002
(D) Strategic Offensive (IV) 1959

Reduction Treat};

Choose the correct answer from the options given below :
(1) (A, B)-(D), (O)-(1V), (D)-(II)

(2)  (A)-(D), (B)-(IV), (C)}-(I), (D)-(1)

(3) (A)-(II), (B)-(IV), (CO)-(I), (D)-(II)

(4) (A)-(IV), (B)-(I), (O)-(1L), (D)-()

Options:

878270165325. 1

878270165326. 2

878270165327. 3

878270165328. 4

Question Number : 122 Question Id : 87827042102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife

-1 -1

Wy EL
(A) eAiforeR giiero gfasiy Sy () 1967
(B) 33T T4 HiY (I) 1963
(C) 3ierhfes G (I) 2002
(D) Wk I AR | (IV) 1959

= feu 7o foredi § | W& I 1 = ST
() (A, (B)-(I), (O)-(IV), (D)-(IL)

(2)  (A)-(D), (B)-(IV), (C)-(ILL), (D)-(ID)

(3) (A, (B)-(1V), (O-(D), (D)-(IT)

(4)  (A)IV), (B)-(1L), (O)-(1I), (D)-(D)

Options :

878270165325. 1

878270165326. 2

878270165327. 3

878270165328. 4

Question Number : 123 Question Id : 87827042103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - II

International Human Rights Documents Year
(A) Convention relating to the status of Refugees (I) 1975
(B) Declaration on Torture (II)y 1954
(C) Convention on the Rights of the Child (1) 2000
(D) Charter of Fundamental Rights of the (IV) 1990

Eumpean Union

Choose the correct answer from the Uptiuns g"wen below :

(1) (AL, (BHIV), (CO)-(D), (D)-(II)

(2)  (A)HIV), (B)-(I1I), (C)-(ID), (D)-(T)
(3) (AN, (B)-(I), (O-(IV), (D))
(4) (A1), (By(L), (Q-(1L), (D)-[IV)

Options:

878270165329. 1
878270165330. 2
878270165331. 3

878270165332. 4

Question Number : 123 Question Id : 87827042103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Eit-1 o T19 Ga-11 1 fiei it

Tefl-1 TE-11
ALY WIHATEIRTT SEaTas aH
(A) Ironferi = fegfa 9 geifud sfaada () 1975
(B) T HaH =g (I) 1954
(C) @ AR Afsrme (II) 2000
(D) FUTE G5 HifeTs STHHR ael (IV) 1990
A feu U foredl ® € W& IO H T4 FHIoC ;
(1) (A)-(I), (B)-(IV), (O)-(I), (D)-(II)
(2)  (A)IV), (B)II), (CO)(II), (D)-(I)
(3} (A)-(1D), B)-(I), (O)-(1V), (D))
@) (A)-D), (B)-(I), (O)-(II), (D)-(IV)
Options :

878270165329. 1
878270165330. 2
878270165331. 3
878270165332. 4

Question Number : 124 Question Id : 87827042104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11.

List - I List - II
Regional organisation Year of Establishment
(A) ASEAN () 1993
(B) European Union (I) 1967
(@) SAARC (ly 1997
(D) BIMSTEC (IV) 1985

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(IV), (O)-(1), (D)-(11)

() (AHIV), (B){I), (O, (D)-()
(@) (A1), B)-(), (O-1V), (D)I)
(@) (AHD, (BR(W), (O-(I), (D)-1V)

Options :

878270165333. 1
878270165334. 2
878270165335. 3

878270165336. 4

Question Number : 124 Question Id : 87827042104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife
-1 E(t-11

& weA AT &Y
(A) eI (I 1993
(B) FUd H () 1967
(C) ETF (IIT) 1997
(D) fowe® (IV) 1985

= feu U fosredi § € W& IO 1 =4 HifAC
() (A)I), (B)-(1V), (O)-(I), (D)-(IT)

(2)  (A)AIV), (B)-(II), (C)~(IL), (D)-(L)

(3) (A1), B)-(I), (O)(1V), (D)-(IIL)

4) (AL, (B)-(L), (O)-(I), (D)-(IV)

Options :

878270165333. 1

878270165334. 2

878270165335. 3

878270165336. 4

Question Number : 125 Question Id : 87827042105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - I1

Humanitarian Intervention Year
(A) Somalia (I) 1994
(B) Haiti (I) 1992
(C) East Timor (III) 2000
(D) Sierra Leone (IV) 1999

Choose the correct answer from the options giv en below :

(1) (A, B)-(1), (C)-(IV), (D)-(11)

(2 (A)(I), (B)}-(II), (O)-(1L), (D)-(IV)
(3)  (A)-(I), (B)-(IV), (C)=(1), (D)-(IT)
(4) (A)-(1V), (B)-IIL), (O)-(1D), (D)-()
Options :

878270165337. 1
878270165338. 2
878270165339. 3

878270165340. 4

Question Number : 125 Question Id : 87827042105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife
-1 E(t-11

T TeeT gaay L]
(A) HrHTerEm (1) 1994
(B) it (I) 1992
(C) gelf TR (IIT) 2000
(D) ToTy fastH (IV) 1999

= feu 7o foredi § | W& I 1 = ST
() (A1), B)-(I), (C)-(IV), (D)-(II)

(2)  (A)-(D), (B)-(IT), (C)-(IL), (D)-(IV)

(3) (A, (B)-(1V), (O-(D), (D)-(IT)

(4)  (A)IV), (B)-(1L), (O)-(1I), (D)-(D)

Options :

878270165337. 1

878270165338. 2

878270165339. 3

878270165340. 4

Question Number : 126 Question Id : 87827042106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the fﬂllnwing Indian Prime Ministers in Chrnnnlngical order :

(

(B)
©)
(
(

E)

Choose the correct answer from the options given below :

D)

Dr. Manmohan Singh
Lal Bahadur Shastri
H. D. Devegowda
Morarji Desai

Chandra Shekhar

(1) (B), (D), (E), (A), (O
(2) (D) (B), (©), (E), (A)
3) () (E) (D), Q) (A)
@4 (), (D), (B), (C), (A)
Options:

878270165341. 1
878270165342. 2
878270165343. 3

878270165344. 4

Question Number : 126 Question Id : 87827042106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa s gareesial = FerTEn | Sarke wife
(A) TN TAHEAEE

(B) T SeTg IMEH

(C) TAE gag

(D) HRIT <5

(E) =% 9

= fau o faeredi § | WE SO 1 =99 I

(1) (B), (D), (E), (A), (O)

(2) (D), (B), (Q), (B), (A)
(3) (B), (E), (D), (O), (A)
(4) (B), (D), (), (O), (A)

Options :



878270165341. 1
878270165342. 2
878270165343. 3

878270165344. 4

Question Number : 127 Question Id : 87827042107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the fﬂllnwiﬂg Defense Ministers of India in chmnﬂlngical order.
Jagjivan Ram

Krishna Menon

D) Mulayam Singh Yadav
E) Manohar Parikar

(
(
(C) Jaswant Singh
(
(

Choose the correct answer from the options given below :
(1) (B), (A), (D), (E) (©
(2) (B),(A), (D), (C), (B)
(3) (B). (D), (A), (C), (E)
4) (D), (B), (E), (O), (A)
Options :

878270165345. 1
878270165346. 2
878270165347. 3

878270165348. 4

Question Number : 127 Question Id : 87827042107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



frefafea aredt 1en whEE B Sy § Sraftem S
(A) SRTSIEA T

(B) oM W

(C) “Hed fag

(D) Homrgw fHe aEe

(E) WY qferRT

=1 feu T foehedi H§ | Wet STY o 99 Hifel
(1) (B), (A), (D), (E), (C)
(2) (), (A), (D), (O, (E)
(3) (B), (D), (A), (©), (E)
4) (D) (B), (E), (©), (A)
Options:

878270165345. 1

878270165346. 2

878270165347. 3

878270165348. 4

Question Number : 128 Question Id : 87827042108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange following Nuclear arms central agreements in chronological order :
(A) Nuclear Non-Proliferation Treaty
(B) Strategic Arms Limitation Treaty
(C) Intermediate Nuclear Force Treaty
(D) Strategic Arms Reduction Treaty
(E) Comprehensive Test Ban Treaty

Choose the correct answer from the options given below :
(1) (A), (), B), D) (E)

(2) (A),(B), (©), (D) (E)
@) (A),(©), (D), (B) (E)
4) (A) (D), B), (E) (©

Options :



878270165349. 1
878270165350. 2
878270165351. 3

878270165352. 4

Question Number : 128 Question Id : 87827042108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
freferfiaa e s frasm Tweidl 1 Fergerd § sFafed Hif
(A) TTHIY AYHR GiY
(B) HMWek YR REA HfY
(C) weAedl JLHTY] vife Y
(D) HWER & AR Hi
(E) =9 qiieqor gfqee |
A feu e fasedi # | TWé O =91 FiN
(1) (A), (O, (B), (D), (E)
2)  (A), (B), (C), (D), (E)

)
(3) (A) (C), (D), (B), (E)
@) (&), (D), (B), (B) (O

Options :

878270165349. 1
878270165350. 2
878270165351. 3

878270165352. 4

Question Number : 129 Question Id : 87827042109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange the post Cold War events in chronological order :
(A) Civil war breaks out in Yugoslavia

(B) Taliban-1 seizes power in Afghanistan

(C) Kosovo war

(D) Russia invades Georgia

(E) Mumbai terror attack

Choose the correct answer from the options given below :

1 B), A), ©), E), (D)
(2) (A), (B), (E), (©), (D)
(3) (A (B), (O, (D) (E)
4) (B), (A), (D), (E), (O)
Options:

878270165353. 1
878270165354. 2
878270165355. 3

878270165356. 4

Question Number : 129 Question Id : 87827042109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
At 39t 3 g5 =estl o Freen H SFafedd Hifa :
(A) Tt ® TegE WRY g
(B)  STFIFEaT H arferar =1 Fel 9T el
(C) hIEE g5
(D) & = STTSIAT 9T SATRA
(E) Was TR el
i< feu T faeredi § 9§ We SOY o 99 i
(1) (B), (A), (), (E), (D)
(2) (A) (B), (E), (©), (D)
(3) (A) (B), (©), (D), (E)
(4) (B), (A), (D), (E), (©O)

Options :



878270165353. 1
878270165354. 2
878270165355. 3

878270165356. 4

Question Number : 130 Question Id : 87827042110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following foreign ministers of India in chronological order :
( Sardar Swarn Singh

( N.D. Tewari

(C) Atal Bihari Vajpayee

(D) Jaswant Singh

(E) Sushma Swaraj

Choose the correct answer from the options given below :

(1) (A), (Q), (B), (D). (E)
(2) (A), (Q), (B), (E), (D)
3 (©) (A), (D), (B) (E)

)
4) () (A) ©) D) EE)
Options :
878270165357. 1
878270165358. 2
878270165359. 3

878270165360. 4

Question Number : 130 Question Id : 87827042110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



frefafeas wrdra fagw d6E@T FemarERr srafem wif
(A) TR @ f§g

(B) TA.E. faamt

(C) ofed faedt arsa

(D) e fog

(E) 9o &=

T fou 7o fosredi # € W& SO #1999 Fifa

(L) (A) (), B), (D), (E)
2)  (A) (Q), B), (E), (D)

{3; (©), (A), (D), (B), (E)
@) (B, A) ©Q) D) (E)
Options:

878270165357. 1

878270165358. 2

878270165359. 3

878270165360. 4

Question Number : 131 Question Id : 87827042111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the national defense budget expenditure in descending order as given in Annual Report
on military, security developments on China, 2021 presented to US Congress :

A) United States of America
B) China

Russia

Choose the correct answer from the options given below :

I ) (4) O ), D)



Options :

878270165361. 1
878270165362. 2
878270165363. 3
878270165364. 4

Question Number : 131 Question Id : 87827042111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:

878270165361. 1
878270165362. 2
878270165363. 3
878270165364. 4

Question Number : 132 Question Id : 87827042112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Arrange the Cold War events in chronological order.
(A) Marshall plan announced

(B) Soviet atomic Bomb explosion

(C) Yuri Gagarin first person in space
(D) Apollo II lands on the moon

(E) Gorvachev becomes soviet leader

Choose the correct answer from the options given below :
(1) (A). (B), (D), (C), (E)

(2) (B), (A), (D), (E), (C)
(3) (B), (A), (E), (D), (©)
4) (A) (B), (©), (D), (E)
Options :

878270165365. 1
878270165366. 2
878270165367. 3

878270165368. 4

Question Number : 132 Question Id : 87827042112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4) (A) (B), (O, (D) (E)



Options :

878270165365. 1
878270165366. 2
878270165367. 3
878270165368. 4

Question Number : 133 Question Id : 87827042113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following events in chronological order :

(A) Russia-Japan war

(B) Treaty of Versailles

(C) Mussolini seizes power in Italy

(D) Munich Agreement

(E) Battle of Stalingrad

Choose the correct answer from the options given below :
(1) (A), (B), (©), (D), (E)

(2)  (A), (B), (D), (O) (E)
(3) (B), (A), (D), (E), (O
(4) (B), (D), (A) (O, (E)

Options:

878270165369. 1
878270165370. 2
878270165371. 3

878270165372. 4

Question Number : 133 Question Id : 87827042113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafiad sreATstl &1 HeaEH § SHarerd S ;
(A) ®FSMYH 5

(B) TIHEE i GfHY

(C) HHITTAT =61 32Tt ahl Tl 9T Shoall

(D) =T T

(E) WIfTE #1945

e fou U foredl § 9 W& SOl 94 Hife
(1) (A) (B), (C), (D), (E)

(2) (A) (B), (D), (©), (E)

(3) (B), (A), (D), (E), (C)

4) (B), (D) (A), (Q), (E)

Options:

878270165369. 1

878270165370. 2

878270165371. 3

878270165372. 4

Question Number : 134 Question Id : 87827042114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following historical facts about the European Union in chronological order :
A) 10 new states join the EU, bringing its membership to 25 countries

(
(B) Denmark, [reland and the UK join the EC
(C) Greece joins the EC

(D) Portugal and Spain join the EC

(E)  Austria, Finland and Sweden join the EU

Choose the correct answer from the options given below :

(1) (A)(B), ), D) &
@ (&) (©), 6) ), D)
3) ®), (D) (C), (), (4)
(@) ®),(C), D) &) @A)

Options :



878270165373. 1
878270165374. 2
878270165375. 3

878270165376. 4

Question Number : 134 Question Id : 87827042114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A), EB)- ©), (D), (E)

Options :

878270165373. 1
878270165374. 2
878270165375. 3

878270165376. 4

Question Number : 135 Question Id : 87827042115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following Secretary Generals of the United Nations in chronological order.
A) Dag Hammarskjold

B) U Thant

Kurt Waldheim

Kofi Annan

E) Boutros Boutros Ghali

Choose the correct answer from the options given below :
(1) (A), (B), (), ©), D)

Options:

878270165377. 1
878270165378. 2
878270165379. 3

878270165380. 4

Question Number : 135 Question Id : 87827042115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Gad U F fefaiaa merafaal 1 HIeshaTar SAafeed Hifag
(A) ST EHTERSIeS
(B) 37U
(C) T re=em
(D) SHIH ST=H
(E) T g el
Al feu e faeredi ® 9 W& S 1 =4 HifC
(1) (A), (B), (B), (©), (D)

2 (A), (B), (), (E), (D)
(3)  (B), (4), (D), (B), (O
4) (B), (D) (A), (B), (O

Options :



878270165377. 1
878270165378. 2
878270165379. 3

878270165380. 4

Question Number : 136 Question Id : 87827042116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The first Opium War (1839-1842) marked a momentous bench mark event in
reshaping of East Asian International relations in the nineteenth century. It
marked the beginning of the end of the tribute system in China.

Reason (R):  The crushing defeat of China (opium war) in its first military confrontation with
the West failed to modify the Sinocentric image of out landish barbarians. But in
addition, the British resorted to use of force. Contradictory policy of China led to
western powers using gunboats and which led to rise of gunboat diplomacy during
1842-18%6. It ended tribute system in China.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270165381. 1

878270165382. 2

878270165383. 3

878270165384. 4

Question Number : 136 Question Id : 87827042116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0
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Options :
878270165381. 1
878270165382. 2
878270165383. 3

878270165384. 4

Question Number : 137 Question Id : 87827042117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Saptang theory propounded by Kautilya relates to seven elements or constituents
of a state.

Reason (R):  Seven Elements that constitute a state are the king (Raja), minister (Amatya),
territory of the state along with population (Janipada), fortified towns and cities
(Durg) treasury (Kosha), the forces (Sena) and the allies(Friends). This is called
Saptang theory.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options:

878270165385. 1

878270165386. 2

878270165387. 3

878270165388. 4

Question Number : 137 Question Id : 87827042117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270165385. 1
878270165386. 2
878270165387. 3
878270165388. 4

Question Number : 138 Question Id : 87827042118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : People trafficking involves movement of persons based on deception and coercion,
with the purpose of exploiting them, usually through their sale into sexual or
other forms of slavery

Reason (R):  People trafficking involves movement of only woman based on willing cooperation
to enable them develop additional sources of income

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(

4)  (A) is not correct but (R) is correct



Options :

878270165389. 1
878270165390. 2
878270165391. 3
878270165392. 4

Question Number : 138 Question Id : 87827042118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270165389. 1
878270165390. 2
878270165391. 3
878270165392. 4

Question Number : 139 Question Id : 87827042119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Indian Foreign Secretary, KPS Menon wrote, “when the British left India, the
unity even of divided India was in danger. There were 560 princely states in
India. It was open to them to accede to India, to accede to Pakistan, or to remain
independent. This looked as if India was going to be Balkanised. This danger
was averted by firm handling by a man of iron, Sardar Vallabh Bhai Patel”,

Statement (II) : In a meeting with Mountbatten on 01 April 1946, Gandhi appealed to dismiss the
existing cabinet and call on Jinnah to appoint an all-muslim administration. In
May 1946, Jinnah stated “India stands on the Brink of Civil war”.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options :

878270165393. 1

878270165394. 2

878270165395. 3

878270165396. 4

Question Number : 139 Question Id : 87827042119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270165393. 1

878270165394. 2

878270165395. 3

878270165396. 4

Question Number : 140 Question Id : 87827042120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : Chhatrapati Shivaji Maharaj captured Torna, Jawali, and Jinji forts.

Statement (II) : Early Mavals who joined Chhatrapati Shivaji Maharaj were Yesaji Kank, Baji
Pasalkar and Tanaji Malsure.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270165397. 1

878270165398. 2

878270165399. 3

878270165400. 4

Question Number : 140 Question Id : 87827042120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270165397. 1

878270165398. 2



878270165399. 3
878270165400. 4

Sub-Section Number : 2
Sub-Section Id : 8782701759
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827042121 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following passage and answer the following questions :
The Kautilyan Economy

The "Arthashastra’ is one of the world's oldest treatises on the economic administration of a state. The
aim of the three main types of economic activities - agriculture, cattle rearing and trade, was to generate
resources in the form of grains, cattle, gold, forest produce and labours. Using these, the king obtained
a treasury and an army which were then used to bring under his control both own people and the
people of the enemy. Wealth alone enabled the creation of more wealth, A king with a depleated
treasury ate into the very vitality of the country.

The wealth of the state was the totality of the surplus stored in the king's treasury, the
commodity warehouse, the granary, the store for forest produce and the ordnance depots. Of these, the
treasury was the most important; the king was advised to devote his best attention to it, because all the
activities of the state depended on it.

Sub questions

Question Number : 141 Question Id : 87827042122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is the world’s oldest treaties on the economic administration of the
state ?

(I) The moral and political thought of Mahatma Gandhi by Raghvan Iyer
(2) Arthashastra by Kautilya

(3)  War and political Theory by Brian Orend

(4) The Art of war by Sun Tzu

Options:

878270165401. 1

878270165402. 2

878270165403. 3

878270165404. 4

Question Number : 142 Question Id : 87827042123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not an economic activity ?
(1) Agriculture

(2) Cattle Rearing

(3) Trade

(4)

Wagi_ng war
Options :
878270165405. 1
878270165406. 2

878270165407. 3

878270165408. 4

Question Number : 143 Question Id : 87827042124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Economic activity was used to generate resources. Which of the following was not part of the
resources mentioned in the Kautilyan Economy ?

(1) Grains

(2) Cattle

(3) Rivers

(4) Gold
Options:
878270165409. 1
878270165410. 2
878270165411. 3

878270165412. 4

Question Number : 144 Question Id : 87827042125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following was not the wealth of the state ?

(1) The treasury

(2) The commodity warehouse

(3) The Granary
)

(4) Villager's Produce

Options :

878270165413. 1
878270165414. 2
878270165415. 3

878270165416. 4

Question Number : 145 Question Id : 87827042126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wealth alone enabled creation of :
(1) Less wealth

(2) More wealth

(3) Unknown treasury

(4) Known treasury

Options:

878270165417. 1

878270165418. 2

878270165419. 3

878270165420. 4

Question Id : 87827042121 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827042122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270165401. 1

878270165402. 2

878270165403. 3

878270165404. 4

Question Number : 142 Question Id : 87827042123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

afefer nifafafy frefafaa 5 | =6 9 7.1 § 2

(1) F

(2) TR
(3) =AM

(4) 95 &M
Options :

878270165405. 1
878270165406. 2
878270165407. 3

878270165408. 4

Question Number : 143 Question Id : 87827042124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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8782701654009. 1
878270165410. 2
878270165411. 3

878270165412. 4

Question Number : 144 Question Id : 87827042125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) TSR

(2) I Te™

(3) 3 9SSR

(4)  TTHIO KT SIS
Options :

878270165413. 1
878270165414. 2
878270165415. 3

878270165416. 4

Question Number : 145 Question Id : 87827042126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270165417. 1
878270165418. 2
878270165419. 3

878270165420. 4
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Read the following passage and answer the questions :
Securing Cyber Space

Transitioning to ‘Clouds’ offers immense benefits, especially, in terms of cost, flexibility, scalability and
agility. Cloud technology is a great opportunity for users, service and technology provider organisations.
However, there are major challenges - non tarrif barriers in the form of restrictions on the global data
flows, jurisdictional issues because of location of servers in the cloud, stringent investigations/ Surveillance
regulations in countries that give legal rights to Law Enforcement Agencies for accessing data, concerns
over security and privacy of sensitive business and personal information hosted in the cloud and sharing
of ownership and accountability between the user and provider organisations. Full potential of the
cloud can only be realised if these challenges are addressed through appropriate policy measures, standard
contracts, legislation and diplomacy.
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Which of the following is not a benefit of transitioning to ‘Cloud” ?
(1) Cost

(2) Flexibility

(3) Scalability

(4) Technical disability
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Cloud technology is not a great opportunity for :

(1) Users

(2) Passive population

(3) Service providers organisation

(4) Technology provider organisation
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Which one of the following is not a major challenge to cloud technology ?
(1) Restriction on the global data flows

(2)  Jurisdictional issues
(3) Stringent investigation regulation
(4) Power play between the weak powers
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Countries that gave legal 1'ighl's to Law Enforcement Agendes could :
(I) Access data

(2) Misuse personal information
(3) Express concerns over security
(4) Privacy of sensitive business information
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Full potential of Cloud Technology can only be realised if :
(1) The challenges are addressed

(2) Policy measures followed

(3) Policy measures are violated

(4) Legislation is followed
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